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LWATUGSS GeueiBId. LLmimsT suemyaumshE Gusidlsh LWHLBSSOD.
Check the question paper for faimess of printing. If there is any lack of fairness,
inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams.
eIy : ueA — I (e_ulf-sragsiws), ugd — I (2_ulf-eleomdwsd) Heibsef
el SHHmeris0 allenL_WwerldaanLb.
Note : Candidate should answer Part — I (Bio-Botany) & Part —II (Bio-Zoology) in
separate answer-books.

Instructions : 1.

ug® — I (2_uifl-greyeiwed) / Part —I (Bio-Botany)
(wPiGuestasit : 35 / Marks : 35)

Jdfley — 1/ Section—1I 8x1=8

—
.

GOy : oGS olambsEpe@D el weilsseb
2. QETHsHsUULL BTG sienLsafsy Wsayd goumLw sloLamusd CHIHESE5S!
GO GLar el ulenaruid CalTHEH QBIB.
Note : 1. Answer all the questions
2 Choose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer
1. EpsumelseubmIst 6D Qeml BT QUEESSHE HmpEeT Sis0e0?
31) L@snrrebasuu@m g‘,rrsngrrﬁl&,siT P5H LOJ LGS TIT LeRIL|BEMENES  CBTERIQHEBGLD
o) SUTWSIHDS o | LBSBILLBETeT SHTeUJESmsT QUEHHSWMLWEF GFuIwL (PIQUD
@) dev FOWEISETD MGIUSSHNSH DTG WTHRIEET HENLGLIDIEeTBeT
) GomiGembp HTeUJHIBmET o HAUTHS (PIQUiD
Which one of the following is not an advantage of micro propagation? -
a) Plants produced are genetically identical

b) Endangered plants can be propagated
¢) Sometimes undesirable genetical changes occur
d) Disease free plants can be produced
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which is the set of fragments obtained by the action of Hae
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3'CCGGs! [ 2

) b)
(6 L _[cco G GC [QI_,E':%]
CGG G| Ic

|G G C [ G] )G g c C
.i_r-‘:GGC CiC G G

. b e wars o an
3. RNAi WISH_SHDG n seRDLTSEILLL (LDSWLD”.@I W@ RNA
S) grewiBo  RNA, RNase-II Oprdsaey gp GLoLWIE SoLULB ¥
LUSLUBSSILGADE. . B
&) si  RNA-dssir alemeneydbdl sl @LOUTmET, Hdseoren RNA SIremiL L §
CeuslUTLsnLsueng s 56560 & B swmwiurer RISC @ QeaussiLBesmsr
Q) (@) wppb (&) QrewGD.
#) CRISPR eagyp wrugmiene FrafleswuréE@n o usyeamib BrréslILBEDEI.
A simplified model for the RNAj pathway is
a) The trigger RNA is processed into a short interfering RNA by RNase II enzymes.

b) si RNAs are loaded into the effector complex RNA - induced silencing complex
¢) Both (a) and (b)
d) The gene editing tools such as CRISPR can be loaded.
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Which one of the following is the correct steps in the direct embryogenesis?

50 el IR S L

a) Callus b) Explant
v v
Embryoids
Root induction . Plantlets :
v v
Plantlets Hardening
\ R
Hardening Transfer to field
v
Transfer to field
c) Callus d) Explant
v
Multiple shoot induction Stem
v v
Node

Root induction

\

Plantlets multiple shoot induction

v v

Root induction

Hardening
v ¥ o
Transfer to field Plantlets ;
vy
Hardening
‘ :
Transfer to field

5. Bpacaaapapl GUIGHE sfiwrer SeLeniLis SIS
(i) usenwé @mue - (A) Qapnfsy fHwnes 2 GarssILBL

* ERCETRLEY GrfdslUBL STiTue

' - (B) cusfilwewiLeob@e0 BeflbslLGD STiTueT

- (C) Ggmeoguulit Ligey eiflGUTGBEMTES GELﬁl55uu¢m SNTLIEN ;
- (D) o Wite GamengPed CrflssLLBL STTue

(ii) Fmbusd iU
- (i) dev. emiTLeN
(iv) Leginy smirue
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10.

1L

[Pas 12.

" @) () B (ii) C (iii) D (iv) A | = 8 (ii)

i) B (ii) A (iii) D (iv) C
.0 B AGhyD § swer 4 forest

Match the following and find the correct 21 rialise

(i) Green carbon - (A) Carbon in indus e

(i) Grey carbon - (B) Carbon in nlm?SP i I

(iii) Blue carbon - (C) Carbon in ﬁ?ssll rucc (iv) A

(v) Brown citbon - (D) Carbon in boSPST. ) p i) B (W) 4

a) (i) B (ii) C (iii) D (iv) A b) (!)D iy € (i) B .

¢) (i) B (ii) A (iii) D (iv) C d) () I
gieften > gendued

. . ’ u
Spapamappst abs eep ssnaIl Gg) gpBaaiLT 8
&) IR, .Cut @engsT & LT gt
®) OFmeorend enp&ID _FF) ecies?
Which one of the following is an alien mvasnl\)f;% ;?chhomiﬂ crassipes

Mangifera indica ..
a) Mangi d) ZizipUSJuJ”pa

Solanum nigrum : 8y Fizsitany

cﬁm)'u] (A) g:nu aflenss Gzl psoLD GuplULL @rawreadl % My
: . . .

DPBOTEE OBTERYMHSHDEI. _ el GaIOUGSHD W
amemd (R) : uredeor  BemiOUBHSSBD -qmsvglm 2{ ‘
grwaflenss Cpiey srahsst o HBusd Geunuiub ( fg T P
o) (A) &f; (R) soum cﬂL)A o () — A - s
@) (A) sf; R) —A - eow afenssaisvamen ®) (A) &l

sllené @A mes! . -
Assestion (A) : A variety formed by pure line selection method shows more homozggosity

with respect to all genes. f !
Reason (R) : The pure line plants are produced by asexual method or vegetative propagatiog

method.

a) (A) is correct; (R) is wrong b) (A) is wrong; (R) is correct
¢) (A) is correct; (R) does not explain (A) d) (A) is correct; (R) explain (A)
615 G6T WALV LipLD?
Si) Lor &) ueor @) eurenip F) omilg yifen
Which is the temperate region fruit?
a)Mango  b)Jack " ¢) Banana d) plum
Gifley — 11/ Section — I 4x2=8

g8said b6iE alamssenss, sllenL Wb,
Answer any four of the following.
Bresp O g e it &(HLIsnU

. 2 _(HoUTdHE G : . . "
L_@emrr‘s;gj@@@w I Y, ® WS mrei Cumelggant — sploU

e Seieisome e Heeflsll  Lmpibufyg, Ouoaii_efler  mpoufly

Inheritance of chlorop

why?

LA 8meh 2 Hugsuley OsILr o

DL QUL uL

Dragg the flowchart for triticale production

Si68yTuTé1e A RUABUAWeIeH  1p i ‘
; : TG O |

CoweLBBpg. BEIET snyamgmps oBiiGs, " 9T babey SLLTESE ST T

Agrobacterium tumefaciens i a good vector in . E

an

BHmg, D)) E:3

en
gene transfey. State the reason for it
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18.

20.

21.

o p GEMT UTGISTILIH —— | .
FbGITED BT (Barragﬁgm%fb?_w BTb enL Guog@s - a6 Linkenan@ HeflFIned SIF060)

why do we add dimethyl sulphoxi s
ppiesouliued uu;esmsy" ﬂg&:;.lde, glycerol or sucrose before cryopr_cscrvation?

&
write the ecological hierarchy

Jifley — 111/ Section - 11 | 3%3=9

Sl WEID EGUTEHHED e '
:Jﬁ iﬂaﬂ&.&ﬁb | Teh®EyHE aamiwel ompisd el 1850 BLLTWIDTE
An.s;erl 21}’ thi;e of the following in which question No.18 is compulsory.
opHwbsTEmIUls)  UBGuE  BD  10eVTEE Béit i J 5@

: _ 16006 qugl  LOJU 5 856111631 LpHGHTDD
g,mu&;;.lsmg’)l WOFUENIGBEET S0 E06M60. QBN fﬂsﬁgj@i o
The different colours of flower Miabilis j ' plendi

alapa is t type not genes

e eives. Explain it jalapa is the result of blending of phenotyp g
GeusoLTEN @ﬁauﬂ@}m@m Gangenen aedan (ELISA) Bsngmeanenw 6ié ADHHD arsueungy?
Western blot test is more perfect than ELISA How?
g__uj}IﬂL.lJG’O G BHBTLIQSH6T 616NpTe0 6cl6Hen? Qi aBHHGSILE SO
What is referred to as biological indicators? Give an example.
HiETEUES6Ms0 GBEL s oCsmer g Heles PYUTD o _uiflembd e6i?
Now a days Azolla is an inevitable organism in paddy field. Why?
g,tﬂlj%g;rr@ S, CLiE sniFsFNse Hotaubol 9O IDBHHSTES
@6l LOBHIA PEBUSSUSDS GBI
TN Govt suggest Nilavembu as a medicine for Dengue. Write its medicinal importance.
2%5=10

2y BeonEemet ganfujsiiend

Gfley — 1V/ Section—1V
S STEID oo EHHS eflenLuiséeaLD.
Answer the following questions.
&dl@Enid HTEUJBIBETHID GeoenpH 2L o_6IgRID
GLopEEN 6T1& sBE @ ABEHBHESTLBLE @smen aleNHGS-

Beney QUMPEMBEMU

(1606051
Oenemmiden B meuensSenTel Genemili| LODDID eleumey DIDFRIBENET m@g,@ds&.m'_@&.@l_sﬁr
slensE . _
Insects and plants are leading commensalism type of life. Explain it with an example.

(or)
Explain coupling and repulsion aspects of linkage with the help of examples

QUERIL @m&,gmgrﬂmaﬂs&r UpHeHTHD HHEUMIOLILSDET SRS
(S16060S))

QW G0 LOGRIL VG BI6N LISV Hemev g_mugjr,ﬂ&;gﬂms&l&mmﬂ u,rbgj]l éﬂsfll&“,@&.,
Write the morphological adaptations of xerophytes. !
(or) R

Explain the different classes of pmductivity of an ecosystem.

-1I (p__uilﬁl-aiwﬂaﬂujsb) / Part — 11 (Bio-Zoology)
(wPHLCUEHEBST 35 / Marks : 35)
Afey — 1/ Section—1 -
@diy : 1. oIS oS EHHESD efl oL welasab
7. Qen@esLULL BTeT& e asien @D FOHLL slenLenwd  CHTHOSBHS!
GHuI_BLeT el ullsnenuid CoirhH WDDIS. 55, o et .

uGH
8;1=8

165




o
Lo | r
1l

o altcmaives a8
n .

Note : 1. Answer all the questions e
: " from the gl"" o

2. Choose the most suitable answer
option code and the corresponding e _eowil LD
j & ﬂpsu@suswsnmmlsn abd @em STOyD ALC] UD

su_rresa&'mw"

o) SIDAUBST BHiEHILLD IGUGBmevE Lisveleril

Q) oiEasst solmULigsT 20 a;mm(BE@&'@

8) owmesst elpg Ossvedsn poreney LsvaIEILL

F)  DIEUSEEN SMHODIHED LOBEILD B(H{PLDL sLHP

usvelerliLG S EHId eimen. [UDs?

Which one of the following is true regarding copper releasiig

a) They suppress the ovulation

b) They can remain in the uterus for more than 20 years
c) They suppress sperm motility
d) They suppress fertilization and conduction of zygote-

w FTsmen  (Qw
2. 96 afGoriedwr e, @amrr@wrrswasmu ogL]  SievOIY ngassn im@n@ ggﬂ)
Cueiiensm  wemEADTT.  SEEEmEEN | LnsGD  G¥D o4
ETHHEFMSET 2_6iTenen? .
O) QYEBET (LHEHBE) FTSTTOTENCUTESST g_%smrrs\) Quaian (0msiae)

m ,
BHHATD o
@ﬁyéﬂﬁﬂﬂlw

(UGBS @Ewm&méﬂ

LTSI @ 66 e a6l
&) DEEHBET LTSS sTeNaTeuTaEeT, D6 LOG6THE Err,&’:ffﬂmmﬁmmmm
B\ mluTTESsT.
8) wasissT WHWID WSS BHAUMEL FTHTIERILOTAICUTHENTES ®U_U”h56ﬁ
) D66 M@ID oEsTaeT @maumB FTHIyaTaaITEMTE SHULTTSET YT
aeiiwst CBTUIS SHIHdsEennas GHULTTes.
A haemophilia man marries a homozygons normal woman. What would be the possiblk
condition to their children? .
a) Sons would be normal but daughters would be sufferer.
b) Sons would be sufferer but daughters would be normal
¢) Both sons and daughters would be normal.
d) Both sons and daughters would be normal but daughters would be carrier.
3. UAA,UAG wpp> UGA g8l efuibseiar Gariran) Gawe) QLT
3l) PpHSe0 CHTLTEIBHEN ) G!urr@m,m;[; GaEMLmeiimsit
®) (o) wpmbd () F) OBTLés Gomrerss:
UAA, UAG and UGA codons are designated as
a) Stops codons b) Non-sense codons ¢) Both (a) and (b)  d) initiator codors
4. dpsaiLepep GUTmHE shwrer almLmwd srems
(i) smeoFm - (A) enwaBar urdefwiip
(i) enL. .UM - (B) alufGwm
(iii) @Ugfwm - (C) airdlefwm
(iv) yBurafs LIGems - (D) Ganflefl unsefwid
+ @) () B (if) C (iif) D (iv) A b) (1)B(11)A(111)D(1v)(:
() Ci)D(Gi)AGv)B d) (i) D (ii) C (iii) B (iv) A

166




F i _ —
4

|

3

'Match the following and fipg

. the corre
P . . ct answer
2 tiij i : ( )-M.ycobacterium _
ey (B) Vibrio |
L) Diphtheria - (C) yersinj
| i) Buboitic Pls o

. ague -

( gu (D) Corynebacterium

) (B (i) C (ii)) D (iv) A
p) @B () A (iii) D (iv) ¢ "
o) ) C (1) D (iii) A (iv) B
gg @D (i) C (i) B (iv) A

Deu(mEUETUDDIaT &1l

> é,fms&)&&.ﬁmm?lb@un?ﬂ; i L

CETiISEGUUTINS §BHES

aqj) allsrodd " 0 . gt

- BTE\ 656 5 f

@) eBLLigsAsmeT @u.&@gﬁ @LUL-E A 56
) GUUT Ud BB SR, SR

) € BlauCuflw y&d
Which one of the following is correct pair?
a) Cyclosporin—A - :

) immunosuppressant

b) Whisky - fermented grape

) Statins - lower blood glucose level
d) Super bug - Giant insect -

6. SPO (A) : STHIENG syEED Baweds oLwLgaD GLLSLID - ows FelTGHDE
smemid (R) : Qacvae, GansGatammn aBsgH CoTaUSDEG gimeniLféma
o) (A) &fl; suemsd (R) seum

2) (A) poug; euemed (R) o |
@) (A) wpg (R) Srem@ew gl emmed (R'), A-smui ellenéEalleuensy
# (A) wpg (R) @yem@ #f (R), A-eow ellendb@GHDE.
Aﬁsertion (A) : Normal secretion of insulin prevents diabetes mellitus
Reason (R) : Insulin facilitates the cellular uptake of glucose.
a) (A) is correct; (R) is wrong
b) (A) is wrong; (R) is correct
c) Both (A) and (R) are correct, but (R) does not explain A.
d) Both (A) and (R) are correct, (R) explains (A).

. endyen Gpdw yher Bbp sufeBAPETE LIGETEEI TEL:

o)) FhsD &) Wrensn ®) usd F) gheps GsTby

B MO HEBLD

Kiziranga National Park is protected area for .

a) Lion b) Elephant c) Tiger d) Horned Rhinoceros

8. Bpeumeiameubmiel 6B gQane Bipueu gUBSHSID GUIGST SIed?

) L(g)ﬁu‘lﬁsb L]Sg,ﬂ:uen;mr(Burn_Jrrinb &) sniuel GLLIT&GsmTanI(
@) svaml Gy @GennGIT L@ennBy LSS ) BT BB
E Which one of the following is not @ 0zone depleting substance?
g 2) Methyl chloroform b) Carbon tetrachloride
;—, ¢) hydrochloro fluorocarbons d) Nitrous oxide
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10.

11.

12.

13.

15.

16.

17:

18.

19.

20.

21,

4%2=g
\fley — II/Section—1II g
geop@ID BreE elanEsEnsad alamLweaissaL. g
Answer any four of the following. o
s0BUTBITBaTUIL. Gaaedmba WGIBaTuir @mmen GapLGHS! | ,
Differentiate merozoites from sporozoites. Qo OEIIUUGSHwTgs
alb Iossd 2 (HeuTdssHA NG, allenglsnLTerd! ) LR
QFwebuGSmgl. ge? ) « thie b
Scrotum acts as a thermo regulator for spermatogenesis why?
aflumged — B — uler opfignamen apsIs.
Write the symptoms of Hepatitis — B. "
Bunme @ymﬁll?lrrﬁﬂﬁ'lﬂmﬂlj]@p Whdw bsnss gBEID B
Write any two key features of organic farming.
galiFaniuesd aa SepasiuGaug wig?
What is called positive phototaxis?
yemasUuaiwmed gnudh o ulflw elseneysener 6(10EHIS
Write the biological effects of smog?

- iy =i

Ifley — 111/ Section — III _ _ 3%3=9
9esmIb weaim elamssenss eloLwel b efleam aemH-186@ SLLTWLTS
allenLwiefléasa)b.

Answer any three of the following in which question No.18 is compulsory.
eLELTOLGLTOR&mIad - 5§ GEIGL smeHS UMIULD MTEH

Draw the diagrammatic representation of spermatogenesis

% STOFOWLT BB  CUBCDTTEESE, STRHOWT  GPbHMS Ups&na.  Sreodfiur
CareanmiauBDETeT T8I e DISmeT el a)Lb.

A thalassemia baby is born to a normal non thalassemic parents. Explain the possible causes
for the occurrence of thalassemia.

%m(s Oseb ddldems walld o ETesms BLYSGWL. B&mer SHSSUH  (LPEDUITH
MG &b.

Stem cell therapy will increase the longivity of human life. Explain it logically.

2_gell Gupd aumpsaauledbbal LAMHS aumpPHmen CaupBsgis

Differentiate mutualism from commensalism.

gally Gouenmeniiento, o _ulflun) Lsdeuamass SHEMID  GeNmeug;) eTeleumy) ?

Intensive agriculture results in reduction of genetic diversity. How?

Uifley — IV / Section — [V 2%5=10
BPEETEID 6 eNTEH EThbE, olsnL WeiéaE ey,
Answer the following questions. '
Caribmwibn GuTmeens SILBIW o _$alw e

aoama@sisht  DNA, Grevs o@Edlem Q ; Fepls
adiumg allendgs? p Emsﬁ@m;qa,@ Slappenons  alaieAns
Explain the transformation experiment of Avery et.al.,

_ (or)

Sate.lhte DNA forms the basis of DNA finger printing, Explain?
aptiy — eleiouts Gareienaulsy i mawsien EMTfSel wimengy?

, . (Di6bevgI) '
qm}?] (errj::u.lgb BBULAsd BTwISHSGUUTHDENS Lkienes oo g
What are the assumptions included in Hardy Weinberg Pring; e -

ple? E _
ol Xplain them. ool

Explain the role of immunity in prevention of cancer.

@IW[[]QD;B allené: @ ®-
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20 / Model |
5 . . question g i
Irrm QUSHEG | Hi Paper 2019-20-(2)

igher Secondary Second Year
BB whgs %@:ﬂrﬂmm / Biology '

e A / Tamil ang English Version)
Gurdhs wALGUesIEsT : 70

: Maximum Marks : 70
@ aflwmey |

=k Heurd) 2_6NENET  eeiusmen  sAlTTHEId
SBIFaY

‘ﬂfﬂﬂﬁ\) @—meu.ﬂ ‘ . . . i .
. GUAsT  omms  semsTaRiUTETLD
2L Mg WIT e, Qﬁilﬂmﬂdﬂsﬁmb. g

LWL g (?I ) SO0 ol oo awgmppen D195CET GuBHED
Ins o 1€ question paper for fairness of printing. If there is any lack of fairness,
inform the Hal] Supervisor immediately.
2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams.
Gl : USH — T (2 uifigrastiues), ugg — It (2_uif-sleorsuct) mafsma
sllenL paneflsd eflentwiefdmey.
Note : Candidate should answer Part - I (Bio-Botany) & Part — II (Bio-Zoology) in
separate answer-books.
ug@ — I (2_ulf-preuyeluwist) / Part - I (Bio-Botany)
(o@lLCuestasit : 35 / Marks : 35)
Ufley — I/ Section—1I 8x1=8
G&ilY : 1. SnebHH NeTdseEns@Gn el welssea)n
2. Ger@esiul L BTeng eolomLssisd Waan goymLw eimLmwud CHTHOHHHE®!
SR GLer sllsnLulenenujd Cairhg 61(QHiIs.
Note : 1. Answer all the questions

2. Choose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer

BpaumaaTeIbEIsT abd @D eroCuTCrrOumeiaisr LB 2 eieWedsTS suTHaWD?

o)) eBuUIGITOUTESais 2 HOITE warhsHHIEeNE sl Gurisnmad  whmd LilLb
unse &M E! o . o

) B! wmgﬁiﬁ@]éﬁmsﬂ dfudss oufad S1eesHMmbhE UTgsTILSSDE!.

) {Burrcrrr@uneﬂsoﬂeﬁl, * enuBasniisdsiiseled®bs GUDULILL S ' .

%) Gamsopuli LanBLILIga|Bssy WEIHBHHHIBHT HRIL STD UTHSTUILTE BBEE B
2_SeAMGH!.

- i arding sporopollenin?
. wing statements 1s not true regar
gléfﬂrﬁgiffiﬁf i contributed by both polln cytoplasm and tapetum

b) It helps the pollen to withstand against strong acid

ini i hycobilins
llenin is derived from p ulit . '
(c:l)) ?tp ;:;’;S"po“cn during long period preservation in fossil deposits.
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9:3:3:1 .ﬂsﬁl@m} qmgg@g,qmm el g 1b L@ Lon? o Ty
B) QYb, gOemefsh DI6N6U 61T sniflen) Q@mriEh LFUINSS

) BON0  Bieneum 6T enemriu e L LOJ UG 6TT P SO 2

) s, DAY T TOTE: ] Olsusk Beugy) @GUHGLD"@”‘D&MG{J ‘9160319.55 @6“- o

%) @6veney, Hibiomsh Bb5 @yenG UeRIL B eSS LB BFmHEneISe Gl&u.l”‘!,‘.(‘?,l?,u-‘fr@

If you do dihybrid cross in Pisum sativum on the traits of f)od shape and plant height, Wi You
get 9:3:3:1 ratio in F29?

a) Yes, because they are independently assorting genes.

b) No, they are linked genes,

¢) Yes, because they are situated on different chromosomes
d) No, we can not do experiments on these two traits.

SpumeusTsuBammL) OuTmSS sflumer sl epws Sraias
(1) QussLTGsme - (A) — 2n=2

(1) @ enL wBer@sma - (B) — 2n+1
(iii) BeLEICeFmA - (©) = 2n-11

_(iv) 196wy GamiA - (D) = 2n+3

S) () C(i) D (iii) B (iv) A @) () B (i) C (iii) D (iv) A
@) () C (ii)) B (i) A (iv) D #) (1) D (i) C (iii)) A (iv) B
Match the following and find the correct answer

(1) Pentasomy - (A) -2n-2
(11) Double monosomy - (B) -2n+1
(iii) Nullisomy - (C)-2n-1-1
(iv) Trisomy - (D) -2n+3

a) (i) C (ii)) D (iii) B (iv) A

b) (i)B (ii) C (ii)) D (iv) A
c) (i) C (ii) B (iiij) A (iv) D

4 (D (i) C (iii) A (iv) B

. Bt 58 _(A) g Laweiin

658 2 mandsiu g, B8 _(B) —s¢ aFImes GBIl
SSHMTULSS6iTenio O remiL gy. - =
3) A — a.Gsemen, B — EEUT 61D
Q) A - evaugerd, B — urseflwimdsei
@) A - SiBCyTurSeflun, B — uT&leeverd
F) A — SisGITuTSefiuw, B — de@mth@wns&r

Bt Brinjal is produced by using _A and is havin
a) A - E.coli B - Virus

b) A - Virus B — Bacteria
¢) A - Agrobacterium B — Bacillus
d) A — Agrobacterium B — Lepidopteron

g resistance against B,




R o Etnat o

Ty
R

=

¢ aLJlPR aRILG  DibHG 2 BUSALCUIGET Gty

FEoI VDD 6b5 gey TPR 3 —
g2l NETHID ‘B‘Wﬁﬁmhwmg;ﬁ’gg Pzl
(10518

. . i i fTenL &I
LT DB euswila e fiies. et HOE&TET Q&m_m@mmmg 9 _ghenL SIS

8 IPI?@Iﬂ %'Ebsb BILQST FLLBGOMTSO LGS a5 B8
86001 Lumeni .

K umm";m @m‘gm@@"m EGigiemy  pa Gstpp Pomesdpe w680
Rei : BIIGTTEUMD  &pemTey  DisuiT DG OPDOITBEHHEES s QTS

which one of the following statements is true regarding IPR?

4) The discoverer has the full rights on his / her property

10.

11,

12,

b) IPR - includes only the process of the product not trade secrets.

¢) IPR is not protected by laws framed by the country

d) The d1sco.verer can use his discovery for his own company but can not sell it to others.
Lpanaaappst abs gap 2 uifl yidés Csrsved?

o) SiBamEO @) eyGemiwib @) Jugelfuwm ) GamsiluT
which one of the following is a bio-pesticide?
a) Azolla b) Rhizobium ¢) Beauveria d) Hevea
EPGATUDDIST GbE GO Flwpp Been?
o) wehFsT - GG
&) geudsT - BoiosmEUTGLSefler Frewni
@) yuur - @amyenm
) UMD - @pHwnelen Cpdlwbsef
Which one of the following is an incorrect pair?
a) Turmeric - Erode
b) Cardamom - Queen of spices
¢) Rubber - Kerala
d) Banana - National fruit of India
Spoumeueneupms S1HS @eIml DEhF6N SHILDTEMED CrpTlbE aFHITHEI LWSLESSULESDE!?
o)) BleuGautb o) guiwp und &) HEhET F) . LI60e0THSeT0
Which one of the following is highly effective against jaundice?
2) Nilavembu b) Opium poppy ¢) Marijuana d) Phyllanthus
9fley — 11/ Section —II 4%2=8

g8H@ID BTG el HEHDE il Wl bBa|LD.
Answer any four of the following.
ApevGBanp  Geusnmet HTEUTHISBET
Cougul_Leneu ereusurmi?

Molecular farming plants are different from natural medicinal plants. How?
GHBW SHTeuTH Fol_LMigeME  LDEWILEV ULSSenen susn]e

Draw the diagram showing altitudinal zonation of vegetation

L@l Gwewsmpuls) 2aleT LPEnevEBEeT 61(DGIS

Write the steps involved in the mechanism of decomposition.

2 UM o_gworeF GaFwsoUBD snyBamiwbemD oGsTeoralLl@bH CaupuBHSIS
Differentiate Rhizobium from azolla as bio-fertilizers.

@uisoLIment WHBSION LU Sreugrisesd®Ho!
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15.

16.

17.

18.

19.

21.

i

R
WDILgRIGn@I 6ueTD . B a&ifl g 560 STGIDTey E1651601 7

What is known as germplasm collection?

& .Uwiler Lweisenst ST(D&HIS.
Write the uses of coffee

: 3:-:3-_,‘9
. - 11866 &0 |
ey — III/ScclIOﬂ“Iucﬂs\'J. ghigan ' 1550 Mgy,

ICHE@UID  apsiry olemdsenbE —ofawsl Sia
silenLwefldaeayib. o 18 is compulsory- i

Answer any three of the following in which qUCS“O'} e AUGHBID @mursd wmf,&mm
LIID  GOSEEWE  pewiouldobs  URIDOL P

Copupsais.

Differentiate heterostyly from herkogamy . s
®USD FTgaud Hreuy wevisels papn Holsst BHT
ellena: . . the flowers of Pisum sativum,
Explain the role of genes in the formation of purple colour m. g UBUUBSSHID

SO o _uiif 2_M60&606M60 (QBTHHDH60) .{gmmasn?r}sﬁlwr BLBEGWD? oo
UWSILGSSLULTEIL LTe) Bgneipiy o pupg GUIGLSST ) ioreactor), what would hy

If the upstream process is not done for a fermentation process (Biore ’ Ppen
to the product? .

LIV CpTens eymiirdluled o ciien sypwstn LjFdearsmen ULIQUINIGES.

List out the ethical issues of genomic research o s

B G W50 BTHamBEsT BsvemevGiweiled eTeiTeN HLEBELD !

If crow is absent in an ecosystem, what would happen?

Udfley — IV / Section — IV 2X%5=0

SPSBNGIILD ollenTéb & 6T 3 allenLwerilbaseib.

Answer the following questions.
2ASW, Gluswr Gaibl Gmsir Bevemailend menL L BlCUmSHD BEHeyBT SQeLCLmESD

S18 DIMPSSILGEDE Bbs (evmule 2_BSEETR UaISMBSH FHb.

(160608
8L Quwigsd &BrTCLICHTD T 7 @g}]&@&mmgﬁaﬁl@ﬁ)@ eTeueuTm  Geugul Ly
SIILENS 61l 611eh .
A reproduction without the involvement of male and female gametes is called apomixis Give
an outline of this method.

(or)

Explain how translocation chromosomal aberration is different from crossing over?
gﬁoﬁ%&;ﬂ@?%ﬁ;u% HEE SMbpue Huts SLu Qeulu  Benevsw

G]sn&uga@u&i_ STULGEDS). Ll @GMUULD@LQ)GD]GU sileun )
Topography influences the climate of an areq — Discuss, -
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1.

: 35 /Marks : 35)

Lﬂmm — 1 ‘

Sieney - | = 1/ Section - &

2, quG&ﬁ:uﬁf’lﬂ&Himm@lb Glﬂeml..u.lslﬂ:hmm[ub gx1=8

GO GLs m‘i\gﬂ(’f)fm mﬂm;mmﬂm By fpuymi ey GpIEOABHD
YD Bl 6 : |

. Answer all the questions VARIVALS

—
-

IRl

T—

Note :

Choosc the :
most § N ‘ ,
suitable angwer from the given four alternatives and write the

option code and the ¢ i
. L Orrcs Ond]n ' ‘
GemmerbBonGLMA et P B answer

gemp 22L& . ,
ig)gm mg_m@gﬁfﬁemg lj(;' Dbm BB Gimp 2o p_uifwrms GHIADIH
B DIHEL. upGrt  Aenegdm  ByeH® o  2-LHB 2 3Awn&H

) Lujg tti?@iztuuj %Uum;gg:h Lr':;"a'm_ﬂ)’ L& P 2 L 2-uifwnsh GHIEAPIBD-
BHTHIHISH SODD U6 2 L&@me_emLil U 10550 2_uifisamn &5

Plasmotomy means

a) Mononucleated parent divides into two Mononucleated individuals.

b) Multinucleated parent divides into two mononucleated individuals.

¢) Multinucleated parent divides into many mononucleated individuals.

d) Multinucleated parent divides into many multinucleated daughter individuals

SpsaiLapemp CurGsH aflwrer e enls SNewsH

(i) OarGemiwm - (A) 10 - 90 BT &G

(i) b - (B) 1 - 8 LongmGs

(it) WpOyDIiY HESSET - (C) 30 - 80 HIL&SM

(iv) afumgged - B - (D) 2 - 5 BOL&E

DY) (i)A(ii)B(iii)D(iv)C ) (i) B (ii) C (iii) D (iv) A
) (i)C(ii)D(iii)A(iv)B #) (i) D (ii) C (iii) B (iv) A

Match the following and find the correct answer
(i) Gonorthoea - (A) 10-90 days
(ii) Syphilis - (B) 1-8 months
(iii) Genital warts - (C) 30-80 days
(iv) Hepatitis - B - (D) 2-5 days _ ) :
2) (i) A (i) B (iii) D (V) C b) (i) B (i) C (iii) D (iv) A
¢) () C (i) D (iii) A (iv) B d) () D (i) C (i) B (iv) A
gm mRNA, o I &(mHaled(HHS! QauelBL AUGAEHE Pl SIS SILLDDLTS (A) b
o5& (B) eumed UGHWIE RNA -1b @siibsULBasiper.
o) (A) — ATP
(B) — ADP o
&) (A) — Benge0 @aunGenmeng e lgenyLITeTbBLIL
(B) — Sllgenemevl GIFGHIEBET e
8 (A) - L DIgEMEIEOL @mn@mum&m L UTeroBuL
(B) - @sun@ﬁlnmaeél 15 aTRIGE
F) (A) — aenged (BB lgenyumerbBUL
(B) — BengeD @suu@esmmae&l 615 GBI
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: = iling.
. | " 'and@a.stal
Before coming out of nucleus, in RNA is added (A) as capping :
a) A-ATP ! - S
B-ADP
*b) A.Methyl guanosine triphosphate

B. adenylate residues
¢) A.diadenylate guanosine diphosphate

B. guanosine residues
d) A.ethyl methanc triphosphate

B. methyl guanosine residues.

) m@w?
- Gmipfedeor Bpmuseaied a1 @pripETen e ST ALTES
Sl) eIy &) UbHBITHLD _
8) aisiiged (wGas) %) Lpp@pnl (Bassioi) ot
Among the non-infectious diseases, which is the major cause for ¢
a) Heart attack b) Stroke c) Arthritis  d) Ca:?cer B euUTEAIWILD?
- SeumaISTIBIIET eig o_ufit QELNATIGR é_lpbﬂll{ o_emEniowiDD
S Guealdefer 0 Yehms Oareed el SHWRY . s OLIT(RET
) CLigranssalsr @@ urhs GeweTe o atam &ujrruj@:ré?ruu@%n@m
8) L OIBL renwdleq B Iy GFueTHB 2 66T 2 "@ dierd 6D
) @GEITIT(SD'HQLL[[N&)EEEG]ﬂG&T, el QLB rendlerd GyfiGunGLFW
Biswiguifled mb g GUBLILL Lg). o
Which one of the following is not true regarding antibiotics?
a) Penicillin is a fungicidal antibiotics.
b) Tetracycline is a broad spectrum antibiotics.
¢) Streptomycin is broad spectrum antibiotics.
d) Chlorotetracycline is obtained from streptomyces aureofaciens.
- 96 ffw  DNA  geweL OGuepdsooLws  QFiw b% . GFSMPOEIL Lsmg
LWSTLG SS60MD? '

3l) PCR Ggmfsomi Lib <) NMR Gsmflsvpi Lib

8) Fa @Cmains OpmPsopL b ) Wenmrerowor.” . Gurfdlerd OamfsbEit Lb
Which technique can be used to amplify the smallest DNA? |

a) PCR technique b) N MR technique

¢) Tissue cloning technique d) Plasmaphoresis technique,

- POUDTET Renamenius sauELily

3i) @hAHAw uTesBIENLD - GRS

Q) Bowiomsvdg au‘.:urrsb} - BUTE@GBUT 6rdLTlg

: 2_6ieN UG Haseit

8) Cupes Ozrisdome - WbBT NBsen s LHSW TgCsED eueny

) Ldpse SpAwr - @BHW - wBwr - » g . Yellufuied UG
Find out the wrong pair

a) Indian desert - Gujarat

b) Trans Himalayan - Lauhala spiti

c¢) Western Ghats - Andra Pradesh to Madya Pradesh

d) North - East India - Indo - Malayan bio-geographical region

gl }Z 4




A

IR

10.

11.

13.

14,

15.

gl (A) : &M@y SR

: ] &
gmed (R) Qameou@&“ﬂlm. P bunzyh UoldQanenp e BpLioraad
- Eﬁ't@ Gﬂmm _ | .
. Se
TBHBIS Qe NS B owdhasira, -
el g SiPs sen
o) (A) sam; (R) af Beipen, oy -QLEISG\‘G. mmqurl

® W) BEd R) Gresgy 40 W) (A) oy R) pouy

Assertion (A) : Forests ac o OXygen sink ") (A) wpmid (R) BremGid poug
. sinke
Reason (R) : Forest animg)g consume ot : Wi e

a) (A) Wrong; (R) Correet Foxygen for their respiration. |

¢) (A) and (R) are correct 3; ((1:; CD;“‘; (R) Wrong
and (R) are Wrong.
. ; b - .
gBHRD BIEIE, aﬂmm&,@&gmsﬁ mlj uﬂ G?ﬂcc“"“ =1 4%2=3

Answer any four of the following
uTySF WS &6t ; .

T bae Qﬂ@msﬁmﬂ.m Cutg sGoyn (el Coramadaome, BEUIID
g3 Tlen @emiOumssd aen SImP&ACDTD. eeit?

gote is not form i . _
Z}; oq ot formed during the conjugation of paramecia, but we call it as sexual reproduction
why?

GIFT —Wedmba ZIFT —ow CapuGsss.
Differentiate ZIFT from GIFT.

XX X XY
@wsoumen
QUSDJUILLD 6UENT .

‘\ Bhss soilsd o mangn Fl & F2 smaupopsassta

Draw the F1 & F2 generations flow chart for
X“X© X XY
Colour bind

Bauguiwed uflemmod GarunaL GBUIGS.

State the theory of chemical evolution

Quas@am Lndlefludser LG eraienT?

What is the use of methanobacterium? o N |
apeoFdiplenmise LOJUBD Gumeug o uiflw LEOAIMSSSRIMI0 Buiine ufuGSAbaoD
BurnuiuGHSI%-. ik _

Extinction of a keystone species led to loss of biodiversity. Justify.

ljmﬁi - leSCCthﬂ-—lll . ' 3x3=9
G8BamID apsil AIOMEBEHES SepLwefl Seupsd efle SIS 186@ SLLMLIOTS

f:;:gﬁ:fﬁ?ﬁgé of the following in which question No.18 is compulsory.

s Gpaldbseisd HendCaed 2_puhHUIs Gurg  Wwrdlad  Gaeolifized

I ] z
a6y, GNEILD 6IEIeN: . .
ni:m!_@!_lm’mfzvision does not take place during the gametes formation of drone bees. Give
eiosis ce :

reason.
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16.

17.

18

19.

20.

21,

. . pollution.
* Enumerate the controlling measures of noise p

1]

o uid: T

. BV
oBuTEaD eaLGNE WIE? @6 M;fncc-
What is known as ribozyme? What is its sigh! lwﬂﬂ)‘?
Qfrsalwntngfidenier uflemmo (gpdsﬂmﬁiﬁ"""“b opter)ﬂ‘?
What is the evolutionary significance of Archa¢ ¢ queiB5:
990 wrdlmens & GILGHEID aSP@DEPT I T
, o Sl & ol
. b B
96 Bfifey Gprwned, g8y sdsmeuld WO poeay
Bugion? gtiLgGwelsd allsndes.

g : tmen
A diabetic patient wants to have a single time tred
possible? If so explain.

t and permanent care for diabeteg Iy

L8 |

2"5::10
. Ifley — IV!SF:ction—IV
SpssTEmD clamssensg aomLwuaibsab.
Answer the following questions. ofds o B m}fffl@mrrs&lmﬂa.l
walgale), syt @aCUEBES aueGsaELOW LT
unidlener allend g, e
(SI0603! ) "t )
DNA asiug wpuiGurgs, symed G RNAWSEGES! LS QITIFE Gy,
FSILDS BWTUILGEH SIS, .
Explain the role of hormones in the mainténance of human male fertility
(or)
DNA is the genetic material, but it evolved from RNA. Justify.
SSEGHSID 1OHHID OuTGIFESSID S WeHEB BUEMID (PENMEBENETD  Tn B,
(S1606081) '
80 Sppar s mseasdmGuira sriey LSULTUIBSI 61(1pSHIs.
Suggest methods of maintenance of personal and public hygiene.
(or)
Analyse the interactions of two species population.
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| wwﬁ.lﬂ - elemBETsi 2019 - 20 ./ Model question paper 2019 —20 - (3)
Busoplerer @yewn_mb ey / Higher Secondary Second Year
' 2_uifwed / Biology

@0 wppb gyhdeon e / Tamil and English Version)
g oney : 15 BUOLBSsT + 3.00 wexd Qurgs WHIGUEIBET : i
e Allowed : 15 minutes +3.00 hrs Maximum Marks : 70
wg]suwﬂﬁm= l. omaibs elembssend slursl udeand 2 eensT SIS &rﬂurrirg";ﬁ%
3 Qs meiTensywD. sFaludalsd  Gopuleids SiPDH semanauTen i
o Leangured Osfalbseab. i .
B (Sisvevgl) &MUy enwulsnen L BGEW a@@sng;m@lbn&lﬂ&%m@“m@w
LLSILUBES BaISHED. LB aejasie Gusidlsd LWLBSSMD-
[structions : 1. Check the question paper for fairness of printing. If there is any lack of faimess,
inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams.
eily : ued — 1 (2 ulf-grayaiuwsd), ugd - II (2_uifl-sflsoriieued) RSB
alenLssmefed aflsnLwielldbsab.
Note : Candidate should answer Part — I (Bio-Botany) & Part — 11 (Bio-Zoology) in
separate answer-books.

ued — I (e uifl-pregsiws) /Part—1 (Bio-Botany)
(oP1Guemmsit : 35 / Marks : 35)
Ofley — I/ Section—1I 5 g8x1=38
e 1. SeeahE elaTEEEhHEWD elemL el b eBeayD
o ; in@&iﬂuLL HT6N & alepLaelsy BaYD LML aloLews CHTHOSEHS!
@DBUTBL6T efenLulensp GFTHH ETILBIB. ‘
Note : 1. Answer all the questions
2. Choose the most suitable answer from the given four alternatives and write the

option code and the corresponding answer

1. Q@m_irgdlume BaupILTBHEHHSHTM SemiLD
i) U ojUgmIbEsTIeT elleneTeYyH6TT

&) GHmE G pedlen el enene|sei | |
@) Lsy yUENIGSET LOHEILD GpHee sTsoesT .G)ﬂmsnsqessn
F) Qeiiml DisVEVB! @y el (B LoTUEIEHETIET el en 6T BH6IT

Continuous variation is due to
a) effect of polygenes

b) effect of environment
¢) effect of polygenes and environment

d) effect of one or two genes. | '
2. 9m Heulibsem QUG GGG, Alsosoneney CesTIneT S QewT ®CymGean." LisbevorayL 6l
seoinlend Osuisneo, Fi FbHHUIe Ups@d WFdoaflsn Uexi s
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.f
;r

L - BETTSBEHLEDID
1 FABET A i
Bi) G Ysdmsi Geushimen  @emimEmL I, ~ I L i B BEHLEID -
STERLILGILD. o pdmen 0T e _- |
Q) QU Y&lmein deully wewimsEnL gD, U -
5"6@1['JLJ@'D' 4 |
{ male, the F1 offsprings woulq

STeRTULBLD. . : 4
8 @i whpb Quedr ysAmsit el B g
F) @uem whmid Oues ysdssi GeusitansT a?w&'@_ie ”
When red eyed female Drosophila is crossed with whi

be
. ;i eve
a) Females are with white eye and males are with red €Y

' €.
b) Males are with red eye and females are with yellow €Y
¢) Both males and females are with red eye
d) Both males and females are with white eye. Faeudiona 1TBDeOTD?

- Fi #bp8ulsd sremiu@n el Ge ssemwew el

B) Iyl CQurPuiwsd epeod

Q) YBIm CLmlenre @snsmedsir (LPEVLD

8) grefLiulL s@g) LOTHBD VLD

) @MemI_Uul L &GrrGunGemb UmL dlulsir epsold

How can we reverse the sterility of F1 hybrid? Jpmnl
a) Genetic Engineering b) Protoplasmic fusio |
¢) Induced Mutation d) Induced chromosomal aberration.

- 2. ulfl 2_emralssfish usemg WeliTOsuredl) Ursb LweETLUREBE. DiFEH A I GhHE!

LG E T o5l Bo a1 @memdsiul Bereng.

3) A - Senmeno@LrGiotene); B — § . Camensy

Q) A — Oelwir; B — UTdlebsverd  &rigederd

8) A - sisaurfur allsGLrfur; B — eymiLmiidlern sredlwiremr

F) A — sebumsed; B — BIGCHA W QGsorCet F COM6HT

In biosensors Green Fluorescent protein is used which is isolated from A and spliced with B.
a)A- Chlamydomonas; B - E.coli

b) A - Gelidium; B - Bacillus subtilis

c) A - Aequorea victoria; B - Arabidopsis thaliana

d) A — Asparagus; B - Accacia melanoxylon

. BRI eupenm QuThsE  Ffwiren SllDLemws e

() Vssen BreuT) sreugin - (A) - WL M@ Beufluyy

(i) Gougmets 0% & @10 ireuT P& TeuyLH - (B) - Werbigu

(iii) Bwer appal Bsb@0 Brampsrogn - ©) - et Msveur

(V) Bosit apped Cougpetiilus BIUMpSTOugLD - (D) . Bl gy

o) (1) B (ii) D (iif) A (iv) ¢ ) (i)B(ii)C(iii)D(iv)A

8 () C (ii) D (iii) A (iv) B ® (@)D (ii) C (iii) g (iv) A
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" Match the following and fi

n A
(i) Free floating ydeophy d the correct angyyer

c

(ii? Rooted floating hydrophyte = (A) l{lricularia

(fil) Submerged floating hydrophyte : (B) Plstia‘

) R Oom.c.l_Smecrg"d hydrophyte . 8 Eydrllla

a) (f)-B (?) D (iii) A (iv) C ymp:ac§ iy

c).(l)(.: (-1? D (iii) A (iv) B | _d) (i)B (i) C (iii) D () A
. BYEIILDDON Sh5 ey wriue ) () D (i) C (i) B (iv) A

o) &6 WwHED weH suemp eumlm?mrﬂuu CRophsie]
&) MU eufidhaL b

®) 2 ulfiwoyds @fon

F) eleBIGB6a  eeuen)danmenuy DIF &M H 560

Which one of the fqllowing is not a carbon sequestration method?
a) Forest conservation and soi] conservation .
b) Carbon foot print

c) Biochar

d) Increasing the number of animals,

. @ Gllfﬂﬁlﬁﬁﬁ Caxallar @evpur®

o)) GBRBMe WTHUTGEETS gHUGD Wiy CaugurGosment HNssiu Buevalsbame.

&) YSW OJUEDISINEWID QBTiIL STabissT 2 marbs (PRUTHHTE, imeaussT Eifiusd
DTHBSHEDG GHU SREMET HHUMDEIHIEG CBTETMTHHTEH BMSHHMD GMDEUTHE
Qe (BsiTeTent.

@) PeWIL HTEL SieTEM6L LOJLGNICINGWID WIDILTE DN USHEUME)

7)) @bss Sreuymisst GaupulL FTHMmmLIS G\&.rrsuc‘rlm@aiaaﬁmmm:'

The disadvantage of pureline selection is :

a) It is difficult to distinguish between hereditary variation from environmental variation.

b) New genotypes are never created so they are less stable to environmental fluctuations.

¢) The genotype is unchanged for 2 long period of time.

d) The plants show more heteozygosity

. @ (A) : 2_ooalsd QuELUTETET WEEEHEES 2NAGW LjsTen 2 sxauTe 2 66Nl
smemib (R) : @& &Bsurdl B@hs cefiged Caforemd DL Wbsagul 266y,
o) (A) &f; (R) souml

&) (A) soug; R) &l o

@) (A) sf; (R) &f; awemed (R) — A-sow eflendaailsvenso

) (A) &fl; (R) &f; (R) — A-eow alens &S DS :

Assertion (A) : Rice is the staple food for most _of the people in the world.
Reason (R) : It is easily digestible and calorie rich food.

a) (A) correct; (R) wrong

b) (A) wrong; (R) correct '

c; éAg corre(g;t;((R)) correct; but (R) df}es not explain (A)

d) (A) correct; (R) correct; (R) explains (A) -
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10.

11

12.

13.

14,

15.

16.

17.

18.

19.

4xasg
Afley = 11/ Section = II |

- ICH@ID B elemssense elaLwslbsaD-

Answer any four of the following. _
BBEULLSDS uIha Utstssmer @GN

=

Draw this diagram and label the parts.

e

BSMHOYBBEET SIMHTEY sraien?
What are embryoids? .
: LBHSIS
FOHW GRBmouTweehe Aifar @pdosouiume Gom
Differentiate species ecology from community ecology
ubgl elwsstd elgmu 610G
White ten percent law ) o &
: CousmiBid
STl uetiyseler 98y fir BeenieHL o eeuaun Bangenan G ®
How to do test for homozygosity of a trait in plants?
SIS LomEgiur LIS SEMT  61(10%1%
Write the medicinal uses of Holy basil

Uifley — II1/ Section — III 3%3=9

gCxed @,ps&ma;-.sﬁlsmrr&as@eis.@ ellenL_wsil Sieubrled eflsorm a16mI-1886@ &1L muiors
sllsnL wiefld ey

Answer any three of the following in which question No.18 is compulsory.

B &oss semggst asieng LEIBSS GIPsh BIm@meE?
How does pollen tube grow through a solid style?

Draw the diagram showing four strand doubl
Oerdl A eges srsu&r@mﬁ;hg&aﬂ@msﬁ)&.@&@ Ouw@ip WD Wy
0 IBHBGHIE g, #
What is the naming proced

€ Cross over

ure for restriction endonucleage? Give g
* <

CITSE @i afulsd,  2-10  eflps . ! example
’ Ws&EIG  p ’ .
UWETILBSSULGE g, g&1? ellondsgs, i ST K15 61f 7 QeM&FBFTEMNSSY
Of the total sunlight, only 2-10% of the '
’ sola :
Photosynthesis. Explain why? T energy i used by green plants qu

Ufley — lV/Sectionn_[v

&B\PBSHTEPID s)ﬂemréses@_b&,@ snﬂsml_u.mﬂ&»mmlb

. ' , . ax5=10
- Answer the following questions.
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 Ep0 WETHHBalrd;
s sm‘; ool ISBICILIT 1ot premen

LCAguiaf@s
gt QUIBANLEIEd ey prg WO} | |

umerate the characterictie O DO B, o

En naracteristic fengyrey of nncnmphilut?: Jpln:nu e
at ) | (or)

Pla:sgl @1; a ££$ veetor in genetic engineering, Discusy
&n' “.' b} 1 . .

) B [6ma0msing oo, W\Pedsd Bgedr 1 itaomem sl andunm
| (@16b60g,1)
yedufwed  gniy BEBOIGOIDLIL 361 :

. : : Gy wsmey G T puydHmmwin?
SIOLGOWERS  Bieh Wepamenu b m il 6'@ B

; . WA g 1e1Hm g b 1R LIS,
Explain the role of wind as g vital ccological factor

. (or)
Do you believe th

. at geographic information system will conserve environment? If so write its
methods and importance.

UeS — 11 (2_uif-slsotueusd) / Part - I1 (Bio-Zoology)
(oPLCuesiser : 35 / Marks : 35)

Ufley — 1/ Section - I 8x1=8
GHiY : 1. owendhg elambsemsen elemLwalbsnb

CaTBesIL L BiaE aloLsals Waab giysmiw slamLmup CHTHEe5EH
GUUILGLer alnLuwimenyd Cairdhs 61HEHIS.

Note : 1. Answer all the questions

Choose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer

. wal&TEel @ UTed aleVkIGEs, oibwalgafsd STaILGD SHEADIHH MMS

o) Bl BHADIHED Qb)) DI HHADIBHN
@) (WWesTeEme (LD HHO|DIHEV #) @enb 2 ulfl el @CUBSSLD

Human beings are unisexual animals, the type of syngamy in human beings is
a) autogamy b) exogamy ¢) hologamy d) paedogamy
\ b @atiOumba MHaepasaie Ffwme auflens -

ﬁ%ﬂ?@ﬁg Lg@.u(gjsﬁrﬁm -—P&a@mg}]gaeb — aa@f'ra(%esrrmb —> UBES
H(HEGHT6ND — D (pILIL|&6T Bgeiipeh —> LD&BU@L!]I]I._ . -

o) BmFOF60 2_HAUINHEHID —> LNenemIGHeo — (me.j@&@‘) &mHSGHTEND —>
&m&HBaHNeID —p _[pIUIL|E6IT Bapreiimed — w&.t_}{Bumj. |

@) BeFQEsd 2_HAUTHBID —> B[O BBV —+e5®.&.(3mr'rsnm "_.’l-.ﬂﬁ“fillmlﬂ‘m
wauBhE SHEGHTED ——p1 o510 —> 2 [IUIL|EEN .Qg,nmmm N .

) @ems0sn 2 GanbH— SOMBBL— Lﬂmmfmubm——r 2_puiimsi GHTeiDeD
&mHBGHsIemMD—> IRICEIE) w(HHGsIeND—> 10sLGLIQ
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. . being 15  on——p OTganogenesjs -
The right order of reproductive events in humar °="= _ oastrulatl | _
a) Gametogenesis—s- fertilization—p b13St0¢Y> . (——» Organogenesis

—_apparturition o blastrgcys St e
b) Gametogenesis—s» Cleavage—» gastruc o,
astrulation
- = parturition ” ..,cleavage""g g
c) Gametogenesis —fertilization —>blastocy
— parturition —organogenesis .
d) Gametogenesis—fertilization—»cleavag
— gastrulation —pparturition
. SeumeueTeuBmIsT ag SHieHL T LBomGHT
o) HPV — guydulsn apsod (pped Hlsmed 5
Q) ysvasulensy Lweium penend HelTHH60
B) Bawg Howensmss HelisHHe0
F) UO@GLET @eQumsbssid o
. : " . C !
Which one of the following is not true regarding .cervrcal can
a) Primary prevention begins with HPV vaccination

organogCDESiS —-—"blaStDCySt
—_—

m']l.l.l Lmﬁ@mwmmﬁﬁ ﬂJﬂ'E@qum

el UD SADE!

Gl OpLE

b) Avoiding tobacco usage
c) Preventing early marriage
d) Practicing polygamy

. SpsaiiLaupenn QuUTHsH sfwurer allepLenwd 5“’6&51«5‘
() e¥funfpiss o uilmstsn @Y wLEHBH - (A) Frevd GuTEIGWIT

(i) Qamsveoliu’L HGI WHHS - (B) anfuumggso GUY GBS
(ili) mEssH6T - (C) slLben SHEUY OGBS
(iv) @reimb geveowes s6UY wEHs - (D) DPT 6Ly LEHS

o) (i) C (ii) A (iii) D (iv) B &) (1) A (ii) D (iii) B (iv) C

®) (i) D (ii) B (iii) A (iv) C ) (i) B (ii) D (iii) C (iv) D

Match the following and find the correct answer
(1) — Live attenuated vaccine (A) Salk’s polio vaccine

(ii) Killed vaccine - (B) Hepatitis vaccine
(iii) Toxoids - (C) Measles vaccine
(iv) Second generation vaccine - (D) DPT vaccine
8) (i) C (i) A (iii) D (iv) B b) A (i) D (iii) B (iv) C
¢) D (i) B (i) A (iv) C d) () B (i) A (i) C (iv) D
. pUBTET Benemanus samiBLlg
Sl) LTI &aL 1y - UTEBLNTETES6m
gi) gujlar; - gna&@yrenwdlen CafaldBuy h,
L ; foreet ; ,
o) . iﬁ]};(i&;ﬂ[brrmm&s lﬁ@&smh;gn'm@
Find out the incorrect pair
a) Cheese - Lactococcus
b) Curd - Saccharomyces cerevisiae
c) Idli - Leuconostoc mesenteroids
d) Bread - Yeast
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10.

1L

12,

13,

14,

@ O - 21, iy~ 35 :‘;D(,gi) S22, (i) - 29
Insulin molecule is made of tw . Voo 20, () - 31 s
Chain has (if) amino acids, 0 polypeptide chains, The chain A has (i) amino acids and B
a) (i) 26 (i1) 27 ! : |
o) (i) 21 (ii) 30 3; g; 12 ?% 2
snTadled V : H
S;U @b i_sfﬂ“ To-gummn" ovemellevtie, syemrawd abp alanGsEsGH LBD OUNDE.
i DO AW wrenen
&) @AW fsD LOED BbBu wrenem
® wr8smed emibysHsie Lhpib GFged amibLshHsisf
%) SIEGSTEHLT UMby wpmb weseoumby

Periyqr wilf:l life sanctuary in Kerala is famous for
a) Indian Tiger and Asiatic elephant

b) Indian lion and Indian elephant

c) Spiny ant eater and scaly ant eater

d) Anaconda snake and python

@pgdwrele euer weaflser eemenp&SILGT WTT?

3l) &HHBHTETEL UGEGeT o) weed utwis @) owfpst dm #)
6TLD. 61670, 16U LOI BT H63
Who is honoured as Forest man of india? _
a) Sunderlal Bahuguna ' b) Jadav payeng
¢) Amrinder Singh d) M.S.Swaminathan
\Afley — II/ Section — 1T 4x2=8

g8a@Ib HTeNE elambsEnsE oL weissab.
Answer any four of the following.

SLETT  1D6VL_[BHSHENEMLDBHTEN syemmhismsT UL IRWelBs
Enumerate the causes for male infertility.

RNA 2_euah aamiuGaug wigl?

What is known as RNA world? . . o
(ppenowITe QUG sandbdBn  wopldehs UG awg SMSHED (DU
CoupLBSHSIS.

Differentiate relative dating from absolute dating.

‘OpTdsea — euenJuDl

Define ‘bio reactor’ o o
BLOWmedE SILIUTEIETEN LGP @eMsd STELLEL AlevBIGSMmenL uCwed®s
List out the fauna of Trans Himalayan region

o WMl o _@HLOUEHEHED 6D GUUILiLGE wWrg?

Which is referred to as biomagnification?
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. 18,

o Tl
| 1856 SLLTUIONS . .

WLy 1 | (R =
Ifley — m/Secf"?‘;ij aflenm 61691

- gC8xgid cpsim elméseEnseE aflet.we SieuD - oulsory.
aflenLwefldseayib. .o No.18 is comP
Answer any three of the following in which questi©
PO Ogbyledail LLLD euehE LTSHISMEES &

Draw the diagram of a gemmule and label the parts: oGS

16.

17.

18.

19.

20.

21.

albg Osed SiewiL Gasvedgsht LG @gms{)'w)@W"“
Explain the penetration mechanism of a sperm into 'an ;38-
ufiemmosiieded, @eemiiy o uiflsefer LEEG 666
What is the role of connecting links in evolution?
heopsSHuelainbs GuPpmear CapubSSIE
Differentiate oligopotency from unipotency. i i Sfw (Pgwb?
welis WILENSHL L sda apeotd wefls IETHDISS-SPP

HGP is useful in tracing human history. How?
2*5:10

Jfiej — IV / Section — IV
BPSETEID aleTdbsEmE:e sl welbaab

Answer the following questions. P
FCaTmeuled poQupih Hemefldr  GFweutd CBHTLRGS

CFwedpemmenws allendEs.

IDBOID  Siemanzg

(SI606051) _ d _
uTesTIhs  Lmpbufw  GEmissT GUEHLLTID SieEE@EICL  UTHSSDS. Do g

2 _SMMSSHIL&T alend .
Explain gene switch on and off mechanism in E.coli
(or)
Sex linked inheritable diseases mostly affects men. Explain it with an example.
SILed @ GBI Sieve, Syemed Bg wmp o ulflemiss STHGUSHG 2 gal yfdng
alend@s. geir?
(S16Veug!)

et CETNSHT LemTLBme alleNeEs.
AIDS is not a disease but it facilitates the attack by other organisms. Explain why?

(or)
Explain the properties of pedosphere.
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; GosdBlensy e mp S / Mode]

question paper 2019 — 20 - (4)
her Secondary Second Year

4 . B0 i %;—'@lﬂmob / Biology
oeme] : 15 PO dime SO0 6wl / Tamil ;
g : BT+ 3.00 1pggf and English Version)
?r-ﬁmsA”"wed: 15 minutes + 3,00 g www.waytosuccess.or§forss wHlGUeEmeT : 70
| &6 : 1. Sienars ¢ i :
L P wa)ﬁﬂ 66011 &5 5 g 1y s, _ Maxlmum Marks : 70
: Qameieneyn Udlourdl o sitengr  eiduBmeT  AUTTHSIS

DIFSHLL

2 LOQUITES Qmifefda,

BevD  (Sis06v i 4

LWSLG g, (‘? iy PO 0LEG awamEHGD SIsEsTIBMBDED
B ULkise auempeugie Gusifisy LWSTUGHBID.

r for faimess of printing, If there is any lack of fairness,

or immediately.

2R GOopUGLie  oenps  semareiumsnfLLD
alb.

mstructions : 1. Check the question pape

inform the Hall supervis

2. . N *
a =i Use Blue (or) Black ink to write and underline and pencil to draw diagrams.
iy : ugdd — I (2 wif-sreuyefuisy), ug®d — II

) (2_ulfl-efleomdlwisd) Hells gl
sl greried eflemi_wedaseay. '

‘{ Note : Candidate should answer Part — I (Bio-Botany) & Part — II (Bio-Zoology) in

separate answer-books.

ue®H — I (e_uifl-srauyelwsd) / Part — I (Bio-Botany)
(wFLCueissit : 35 / Marks : 35) :
fley — 1/ Section—1 8x1=8
GOy : 1. SIONIHS lTEBEHEGD allenLLsibaad
2. QETE&SIULL BTl oienL e Baab giumLw almLamwd CaTbsbsHE!
P GLe aflenLUWlsneuib Bairdhadl 61(105IS. ;
Note : 1. Answer all the questions |
7. Choose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer
1 o1 Gl LEeH HToUTHBHIe0 o _6i6N 2_HoUTHES LI'_EBU_I')Fﬁ]GiJ o siten &CyTCLIGamE
| gg)m%(,_ﬂ\_)_mg‘;@m Glomil 2L BGAIE0 o siten &CynBLTBsTs Heweo B.
&) (A) — mB — (2n) &) (A) — (2n) B = (m)
@ A - (2n) B — (2n) #) A = @ B = (m)

I ' is (A) and tube nucleus
somal number of generative nucleus is (A) an
In a male gametophyte, the chromo

e A)-(2n) (B)-(n)
a)(A)-(m) (B)-(2n) b) (A)-(2n) (B)-(n

e B) =
c) (A)—(2n) (B)-(2n) d)(A)—() (B)-(n)
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: 1 . @ewsun@es
- BDUmSsToUH6h D Qoshiifpedssr  Burg @@gﬂmﬂaanw&‘“ﬂﬂ | . n u
FNUDD  eurdsayunb) ‘ mawid DIBDOB g
) @dfamse &8INGon@amibmefsn wisvatsomefislt LTI
SO L DDA BB »_sitsg). . onOar® GBITBLIBENp,
) GADD L ey @ fensoulsd aumib S Pemeoidsd ?pml somENTE OTDIS ey
BrCpiumLu Gung QsiaITm iFeSHEBED @g@@ i |
PUOITH  isveSsogyip 90 @8yl HERILEGEY o« apsotd BBaIDILLL
) Gl L. Gusry [-60 DbPHmae| @BynBionGabasi dflsups &
SiveSsvmena Il svenL Asimer,
®) ©%pe ULl o Bus - 114 @dHmIo|
@(Sgn@lbl.'_lgl'_&sﬁ Uflasimen. . :
;\_fh.ich one of the following i[: incorrect regarding chromosomal behaviour SpRgsT
1vision?
a) The alleles of 3 genotype are found in the some locus of a homOlogOUS_ chromoson.m,
b) In the S phase of meiotic interphase each chromosome replicates forming two copies of
each allele, one on each chromatid. " .
¢) The homologus chromosomes segregate in metaphase I, thereby separating two differen,
alleles.
d) In anaphase II of meiosis, separation of sister chromatid of homologous chromosomes tae
place.
. BDeumsuaTeuB 6T b5 PEim @JeNiLid Henew euenidleng Lombpl GUTEs?

& BynBLTGsTbEse #8angM

3) aHBRNMe0 Q) SfLs sufsod @) difls sufeod &) BEa Ppdas
Which one of the following is a secondary metabolite? o
a) Ethanol b) Acetic acid c) Citric acid d) Toxic pigments

. BDaUBEURTEIB G b5 @i eflwrer OprEs?
o)) eledfebLst - AsiCasrer ol Udlemederd - ybmBmI) SIATOMHHE!

Q) Calmsdlen - CapHmbse Grmdlwerd - 1Beoflwir SIFITOmHE

&) wegréenien - pgdmeded Uiyfwr - BoUSFBE WEHHE

#) Cargenr - Galifsibd SIS - 6uel Meuryend]

Which one of the following is a correct set?

a) Vincristine — Cinchona officinalis — Anti carcinogen

b) Capsacin - catharanthus roseus - Antimalarial

¢) Digoxin — Digitalis purpuria — Cardiac tonic

d) Codeine — Capsicum annum — Analgesic

. Gapm (A) : anUCuredibsfumsfsy Boseh B SO pEID Geflyes Bnse

amyemd (R) : gmaden ouuiss o siren SO Geuriugemey ;
1 & Blevsvsnw siiugs B

o) (A) &f; (R) s
) (A) wppid R) @yeiGeo #f; ayemed (R) B A-Wls eflenimiona
DI 60EN 60

&) (A) wbpw R) QremEeo &f; (R) SIS ~ A-ufeir

. MG E 0TS sieADE:
#) (A) wpgb (R) BremGeo geaum
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TN

=y

_ Assertion (A) : Hypolimniotic 15 ;
| Reason (R) : The water holds theyfgn?fj ater is always cold.
) ( A) correct; (R) wrong JP rature of soil at the bottom of pond

N

oth (A) and \ :
p) Both (A) and (R) are correct; by (R) is not the correct explanation of (A)

E 0 Both (A) and (R) are correct: (R) is the
’ correct -
d) Both (A) and (R) are wrong. ect explanation of (A)

B¢ gggrrsnuﬁﬂsﬁr SMNBET UL L tage Y
; o) GumwTaBIeTwT ol Sy

gBeoL_flwim

: B ofs gedujer Qeugdbdlsimen’
&) AefBumd @) uradeflur aramred  F) aEBGELSLEILID
Which plant pods explodes with a loud noise like cracker?

a) Boerhaavia b) Cleome  ° c) Bauhinia vahlii d) Ecballium elatrium

) 5@“_@6”_@‘6“m@m 6bd Qeiml Hmsodp Lyl enL @D o emiayF Frds.
3 L[[B&')ﬂT_"‘GTE‘&&GiT ——*LHTI..DLI—-D- U@Eﬁ@l @ﬂj] = "

&) QUEOLID _y UBEDEUSET —P6usHiBe6T — L EhenFssi
@) sy BsmassT —>allone Wsmasst —> s —HUTDLSST
F) STEUIMIGET — (pWsbast —> Hil—> uGHS!

Which one of the following food chain refers inverted pyramid?
a) Grasses—» Rats —»Snake —»Hawk

b) Banyan tree— Birds —»Beetles—> Fungi

¢) Phytoplanktons—» Zooplanktons —Fishes—> snakes
d) Plants—>Rabbits—» Fox—> Hawk

8. ApImEIETEIDBIIST ShEH SN o uifl Geoued FHeuan JD?
o) Hevenfidigur FIwd &) il

@) oiBeur Geugm %) epyeThaioD

Which one of the following is livefence of fodder?

a) Gliricidia sepium b) Nerium c) Aloe vera d) Chrysanthemum
Afley — 1L/ Section — II 4%2=8

gBoHand BIEIS slenésEH& sl enLwaldsa|LD.
Answer any four of the following . . Lt
9. grewy LU GUEESHIDG THS VO Qewpms Hopalf CUHSSID HEVESI:
2 g e bE SMED QenBEBaD. o _ .
W;fi?h m::}h:d%f an?ﬁcial vegetative reproduction is good in plants? Give reason for Your

answer. ' , e
L0 @hp uLpmp SIDHE LTEBEDTE GG

9 QEsd (PEIBG

Redraw the diagram and label the parts
©

2 Celled proembryo

QL prBsmAsw prenogwHHICHE! CapubsHeis -
Differentiate tetrasomy from tctraplmd}' o b




— e B,

T ——

20.

o ?
el 6160160 ¢
12, Oeigiensmmurda POD oyugmIOTHDL e1ETHIEY 67

What is known as electroporation of gene transfer? I RLIMT S ”-ﬁ]ugﬂ:
DI  oSWTEhssH — guisler  apsot U'.m Baeeu? ;
CFunuiu@Asimer. B0 agmars o _uif ungisTY ties of organisms, What is the Neeq of
By using gene manipulation research we produce variet

biosafety in it? ' ' .
UG @B e sommstish SR
CeErBsslulphbeTad,  afgd  waBoE b HIGS.
Friglelullsd wealsamen MUGE, DBDETE HTTERISMBULL & f man is not mentioneq,

In different food chains of different ecosystem the p]acemcntroanswer. | Yoy
give placement in a sujtable food chain and give reason for you

LsLGexm Q_GMIE;E m -Emglﬁ%ﬁ!
) 6 .
@fiLeieomes: - LA 2 ayg,

i) 111/ Section — III , 3X3=9
ICsEID apeiy ﬁﬂmn,ﬁm@&@mgﬂmLmaﬂ Siuprsd eflenm e16wT-186@& SLLIWLTS
sllenL wieasmeayip, .
Answer any three of the following in which question No.18 is comPUISf’rY- ' |
LB won siLg seiiuifiew 2 mana@b weonlw sei], uuﬁ?"@U@fﬁ_ﬁ @@mu@m
Bbps smpeop B gnme Careidprun? siigeueisy 2 a1 uUHmeo STesTHurss
OBTB&ESID, '
Grafting is a method of production of hybrid plants but not the method of reproduction. Do
You agree this statement? Give logic reason for your answer.
BuuL £560 &CrTCITCs D stenienlldens LipL o CaTBSSUUL BeiTeng). Densd S By
@ﬂﬂ@U@@&,

This is a type of chromosomal abnormality. Find jt out, and give a note on it.

DILIBLID elsueumy STCUTHIB N6 5m.'.®,6_?)5u.516\51®[5@ urrgu&rreisdﬁ]m@?'
How does Rhytidome protect the plant against forest fire9

mﬂsur&@esaﬂaﬂ@[_'r,@ Osutib @suslﬂuu@suilsmrre\'), U
In animals, loss of energy occurs due to €voporation o
9Bsmer @piiTenmsny wellFen 16g TOUGL By oM
Write the direct and indirect effects of 0zone depletig

&> Bpriny BLESmE). ereueurm?
f heat, How?

B e e sllensneysenen 611pHIE
N on map,

Uifley — IV / Section - 1v : ]
BB HTERILD aﬂsmrreisaz.@],éa@ aﬂsml_u.mﬂ&sessqm ) 2x5=10
Answer the following questions,




g T Ty v

. dpaumeuenaupmiet 6bd O 6umd

B

U lﬂnmwﬁﬁﬁh 3 3 .
wyu 0 SIS SLpHunss QrwsduGn oibesTUTbRubSH LBIEIEne

- eSS

lain the pattern of inheri _
Ex:e p inheritance of a dominant gene suppressed by another one dominant
geli

’ (or)
Explain the role of Agrobacterium as a vector in gene transfer

 mlLd Cpemey, Grw auflenss Gaas gUUILE gr DEmDIL UL p P oGl e

elenB&S-

. _ _ (S160608))
ISl QurmLsellelr Sas O ord uby WSS
Compare mass selection with pure line selection with the help of a schematic diagram.

. _ (or)
Wwrite about the king and queen of spices.

ugd — 11 (e_uifi-sfeonsdsd) / Part — II (Bio-Zoology)
(0P1Guesimet : 35 / Marks : 35)
Ufley — I/ Section—1I
GilY : 1. Simasg elemeHEnHEGID el wallbsab
2. QETR&EILLL HralE elmL sl Waab goumLW senLemws BHTHOSEHD
GO GLe sleoLulsmenuyd CETHBI 61ULEIS-

gx1=8

Note : 1. Answer all the questions
5 Choose the most suitable answer from the given four alternatives and write the

option code and the corresponding answer

eapL gTaled, QLT BHEemeN GaipnielsE&LD SIBHSS6N.
o) Us Sb5S LB o) UD poin s DIBBGHB6IT

8) up, G WHDD 26 ABEGSST ) Up whgd BE HEESSET
In Hydra, the buds develop from
a) ectoderm layer only

¢) ectoderm, mesoderm and endoderm layers d) ectoderm and mesoderm layers
dub ssumumul upflu slwbp auTSEWID?

b) ectoderm and endoderm layers

) @&, HHODHD Gufidamil gL

o) Bg, SApmiuenu LMD weEGELMIGE SoLGw SIEHSIETENHI.

@) smumL DB wHHU 2 L6 u@HWIE apsolons Hevaild srevaurwigel HpeHSDSH.
7) smueuulst seuflsd apeim: SIBEHE D6 2 6T6NEl.

Which one of the following is an incorrect statement regarding uterus?

a) It is an inverted pear shaped structure.

b) It lies between urinary bladder and rectum
¢) The uterus opens into the vagina throu gh fundus.
d) The wall of uterus has three layers.
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L W) sndepn ol aeus

, UG -E»tr_ra&ﬁmu.- :
cusisaies 07 - -'-%“’ﬂ:

- QLIGET |
HAFa. & HOHS SEU
- &gemb (R) : 85 GasCsed aLppuBaed - (R) &

SGADIBMD HEHLDD! o) (A) HVD (Ayeow alléiis

@) (A) &f; (R) s . g) (A) &f (R) Sy,
8) (A) sfl syemed (R), A-emw ““‘"’bmﬂm@-m jon i } i
Assertion (A) : Tubectomy is the surgical Stcrll'ls'ﬂ'“and prevents conception. ,
Reason (R) : It blocks the transport of the gametes wrong; (R) Correct
a) (A) Correct; (R) Wrong 3) (::; Correct; (R) explains (A)
¢) (A) Correct; but (R) does not explain (A) )¢ 3 X @@]ITGLDIT(BEFI’LI}&% )
- 0 uPUYFS 12 o ey @ngmm@gnmgsmsﬂu-llb .

CETNEBSTED, Sips UTed aeien? i LT GUES B GUUT Sy

S) Kyewt &) OQuesi @) urd & and 3 ‘X’ Chromosomes?
What is the sex of Drosophila, which contains 12 autosomes PR
a) Male b) Female ¢) Gynandromorphs

B 2 Leled WBC - ulemed @ iGuyrer o puSHE EeUIWILGE) STollsyays
USSHOL &miiy? ; .

o) @ih@wmu&,m 2 L6060 2 Husd GruwiLGaRome B8 96 GFUBmss
SWIiy Wweba.

%) B3 9B s Whgwren CrTIGSHenL. &SIl

8 83 90 Busiy CrmissemL &Ly .

F) B& 96 Csbms (penpulled Guuplul L CrTUISSHEL &y

What type of immunity, when interferons are produced by WBCs in our body?

a) Interferons are not produced in our body, it is a synthetic drug

b) It is a type of passive immunity

¢) It is a natural immunity

d) It is an artificial acquired immunity

- eroBuir 2 _pusduller Gumgl, Gudlevevsrd gifleAwsiflad g 9% LIssas o musd

Colidmgl. sipar Guuwir (A) QLY SSHMmEmen &Hui® (B), '

3) A - aengGrLréder B - sug PUITE afeitesir

&) A — Bl Crr Lisden B -Fab gfsiaen

&) (A) — susour Lrsds B-PCR pfsiimsir

) A — OLedLr elemiBLLddeh B-Cry gisimsir (&lewy gdaasi)

zgggd?;gimn Bacillus thuringiensis Produces a crysta] protein called (A) which s
a)A - enterotoxin; B ~ Lac operon genes

b) A - neurotoxin; B —Fab genes

¢) A ~ Alpha toxin; B - PCR genes

d) A - Delta endotoxin; B - Cry genes
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7 LERTGETETLD - 6TGTLIG]
o) 96 GBI waiLesHn 2 s omeBs BUbEL wipD 2 Wi
FHOIFGHPRMNS GHULGI.
) ylullsd o siten simensz 2 ulflenmbimenshd Buwiiius GDMIGIONILEH BHe0HHI MTPEHED
@) woulst Quiiu - CaBw &nmFapmens GOUUB.
F) GBI waiLosda lssdfiu ugHemwds GOLUE, 21860 2 uifeaimsnt BuBiw
GIPVIL 6T BEHBEH UTLHS6V.
Ecosphere means
a) all the physical and biological environment of an ecosystem,
b) all the biological organisms of the earth which interact with the physical environment.
¢) The physio — chemical environment of the earth.

d) Smallest part of an ecosystem, in which organisms interact with physical environment.
8. ywsiu Crmsow  Qryw  ugdHsaisd o2 ulflu  uswmsp  Feew  WEHH

STEUUGSDS. BeBEGE SNy,

o) Blugdseie o ulfleamessisr amides LIBPEABG sTeswe  CaulUBm
Bl6veBBSI.

&) GUUILL Gen Qeusflullsd Luish o (meureudlsuamsv.

8) GzrenLd sTHHD BHeveyd e SiFs GaiuBee (40°C) STUTEBEHES STHHLOTH
9 66Nl

F) BewiL LseLOUTWEI, @eaigGaamad@d ULGIGTMSTE 2 6l6MZl.

Rich biodiversity is seen near equator. The reason is

a) most suitable temperature for metabolism of living things.

b) cyclone does not occur periodically.

c) extreme temperature (40%) during the summer is favourable for plants.

d) lengthy photoperiodism is useful for photosynthesis.

fley — II/ Section—II 4%2=8
g8maId BTG elamEsEnd@ oL wsibasab.
Answer any four of the following.
9. aeleiigaeisd mBoLOUDID el GMUCOUGSSSHMS gl BEID  FAplyeusns  UTalen
BaOUmEBS (B 616 SimPsEGCDTD?
Why do we call parthenogenesis as a special type of sexual reproduction in animals?
10. dghd) Gurules (waImMD Beney SFGHIEMmeN 61005IH
Write the tertiary stage symptoms of syphilis.
1. Posses GasrLnaisendd tRNA — &o61 B ger?
There are no tRNAs for stop codons why?
2. 96 10 awgm GpHms daembeaw Gpruiamsd urdssiul Gamg. Bbhs Genis GHTHH
BELeUBHT Sie0euG Gal LsT? 2 6l el b@Gs &TIID H(H.
A 10 year old child is suffering from chicken pox. Is this infection good or bad? Give reason
for your answer.
B. feveuens utdefu Hiysmen BMD ‘GUUT Ud a1 ol SimPSSGDID?
Why do we call some strains of bacteria as ‘super bug’?
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14,

15.

17.

18.

19.

20.

21.

BBETES, DG iy,
G HETHNE o feusnpude wpiGwhd  sfeser GauBu  2-JBE @ ' %
THPTE BHSGID. esieumy?

f’
. x ' H H wi
Ecosan toilets are an excellent substitute for chemical fertilizers. HO

3Ix3=g
Ufley — I11/ Section ~ 111 e By i
TCHEDID s slemdmenie aflouel ompien efer se-18566 &
sl welldbsay,

Answer any three of the following in which question No.18 is compulsory.
Rht yplueinibarer Qe QareiienseL 61(1pH!-
Write the Wiener hypothesis for Rly+ henotype. i |
5'—3' é’ﬁm&@wr;paﬂm Pyl gr:lﬂmmgsﬁmnfhaﬂmgia;ﬂﬁﬁ @i ouC@ster 5

Bpid 3" sydweupnien Qe WwTgy?
;D?J——>3' clirectia:;rr;U gj‘f a nuclcgbc acid. ?Vrite the meaning of 5' and 3" in the above
Statement.
DL UG sTUSed et aeife smisesn am ompssILBHDE?
Why is typhoid called as enteric fever? Pl
B G Glfplenen LDERIL 60560 eT6iseumyy ushBaum s Welse QDTS eUTPElame?
How are the different fish communities living in a pond ecosystem? . o
Fibfemisei - Beorgiy Sl @retigB@d BenGu o eten OBTLTLGSTE FLOGILT gy
afleurl.

Describe species — area relationship on log scale.

Ufley — IV / Section — IV 2%5=10

Answer the following questions.
STIU BTe0sH60, S Gau) Bmemiiyg Haeler Lkidamer oG 5.
(Sis0s0gI)
RNA - o _ovab - alleurg)
Explain the role of placenta during pregnancy
(or)
‘RNA world’ - Discuss.
Caminsteney Queoraflamasih 2 el Bupmas; Cairallenen allen
(SIsbevg))
LGS Cangmand ga GEmub S 1 &Hadled, PCR-
Explain natural selection through industrial melanism,

&G,
&1 Lnidlenen ol @ s.

(or)
Explain the role of PCR in clinical diagnosis.
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L Ongf elenmgsnsit 2019 . |
i = 20 / Model questic
Gevlensd @Fewrmid . JUEKION paper 2019.:20 = (5t 14,
en® / Hi |
e:li ™ mCBqub[:I%l'“:r Secondary Second Year
- iology
; (;,Lﬁlu;). I.Dﬁ?ﬂ]ll.b QaigEsod sul / Tamil and English Version)
o, e8] = 15 BILOLMISsT + 3.00 wewf QUoTg - 161
%ime Allowed : 15 minutes + 3.00 hrs WWW'WaytOSUCCGSS'OrdDWE e e ey
| d: . . . Maximum Marks : 70
| ey 1. omaHs alanssepn sfwrsl Lo R_6T6THT  6165ILIHENE &lﬁar" j
(AL 11 (ST[Te DIFFULSH N0 ) LT

o_Leamgursd 0sfeldssa)b.

GODUIGUTeT  onps  sesiErefiurenfiLID

2. peold (Di6VEOFN) SGUY souilemen WLEGL sUpEHINIBHGD D15BEMYBMBHEGD
LWSUGSHS CouiBLD. LLBISET cuemjeuphE Gusidlsd LLHLGHBMD.

. Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall supervisor immediately.

et

[nstructions :

2. Use Blue (or) Black ink to write and underiine and pencil to draw diagrams.
ey : ued — I (e ulfl-prareiue), ued — Il (2_uifl-slemtisus) Halsse

alenLsHmefled allent weiéaaiib.

Note : Candidate should answer Part —1 (Bio-Botany) & Part — II (Bio-Zoology) in
separate answer-books.
ugd — 1 (e_ulfl-sreuyeiuisd) / Part — I (Bio-Botany)
(wHiGuemiss : 35 / Marks : 35)
Wifley — 1/ Section — 1 8x1=8

@iiny : 1. SMSHII leTEBEHHEGD 6L e baan|D

2. Qar@ssiurL Hreg el seisd sad goymLUL alenLeowsdh CHTHOHBHHI
GO GLe el uleenun GsTHdl (RIS,
Note : 1. Answer all the questions
2 Choose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer

1. SpaumaaBpsT 6abhs @Dl PHUTED LDEVTHSTEUTID?

i) Olpeens &) UTSHST @) ulLmen F) GufFens
Which one of the following is a dioecious plant?
a) Coconut b) Bitter gourd c) Pea plant d) Date palm
2. EpeumeusneubuIst 6hs YD L LrefEQalg pugbast upPlw Ffwbn Senen?
o) alensd euigeuld - &BynGrBamd erewn: 6
81) & BImID - @GynGungmd eew: S
@) weoiT SiENEILLD - @GynGorGamd ereml: 4
#) eleng BIBID . @GynGuonGgmD 66w |
Which one of the following is not a correct pair regarding genes of pea plant.
a) Sced shape - Chromosome number - 6 '
b) Pod colour _ Chromosome number - 5
¢) Flower position - Chromosome number - 4
~d) Seed colour . Chromosome number - 1
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i’ LpBBHTHID iy -
| ﬁﬂmél‘umﬂ] N Yot i H
b QBTEwIL %gmﬁgwﬂm Ao ﬁ)?-@ﬁﬂ@;ﬁmuu
for the genotyPe - d) Light red

! 3 RIR2212 asiguib OJUGD 456 |
. o) ST deulny &) 0gorer ST é
What is the phenotype of wheat kernal colour

ium red . ; @ :
a) Dark red b) Medium dark red C)_Mcﬁh 5 23, DB @gLeoL LT W”@Eﬂuﬂ.
4. 9B OFeedsd gm Wiw @BEyTIIEFTAT ﬂm@;ﬁ el e s
wigh GustL1@end Hemsalsy @8rreLoTBIMPPET b 46 7) 45 LHOID 4
o) 4 wppb 49 &) 17 wppib 34 @) 47 lﬂﬂ?c and pentasomy number will be
If haploid number in a cell is 23. The double monosogl; : d) 45 an 448
a) 44 and 49 b) 17 and 34 c) 47 an
5. eOLBamBugds eremlLBeugb! _ . P
o) UsaIsWIE 2 _emene o_auip 2 uiTamip 2 W Py

@ e_uiir aurpd 2T
51”'[@[0 &u.'ﬂrﬂa’:Gﬂ

&) GUHW auem@WTe 2 _emiemel LB o6l '
@) o tyssaenoulsy SiHE oTHpRIGMETILENL L ﬁﬂ"’“@
%) o (ussawls Gudw wippwsLw Bid -6

Stenophagic means . d
a) The organism can survive by taking wide range of foo

b) The organism can survive by taking narrow range of food
¢) The organism can live in water with wide range of salinity.
d) The organism can live in water with narrow range of salinity. .
6. dpaumeusTaubmIst 6bSH Qeiiml L GUOLIT®HST Q_Gbﬁfquéf Fridedomws GPsSDEHI?
Sl) UBS6TT —pl0GWIL|(L0 —p BB LMENe) —LI(HHS!
Qi) UBBET —p6160 —» LITDL —>&5(0E '
®) 2 Bibs BMeseT —plosILIR —rEBUY LD —IUGHS
) SHTCUTBRIGET —(PULISD —»LITIDL] —pB10E
Which is the right representation of detritus food chain?
a) Grass — Earthworm — Black bird —» Hawk

b) Grass —»Mouse —»Snake —»Eagle
c) Fallen leaves —» Earthworm —» Black bird —» Hawk
d) Plants —Rabbit —» Snake—» Eagle

7. dpseiLapon Quimsd sfluter eloLmwus S

(1) enyBamiwibd - (A) B Quged

(i) ey@sTOLiToT - (B) sepe_jib

(i1i) 2iBgmevm - (O sl@Wir sumpdbans

(iv) &8y BLnGsoflur - D) sall 2 uilr yehams

@) (1) B (ii) C (iii) D (iv) A L) (i)C(ii)D(iii)B(iv)A

@) (i) C (i) D (iii) A (iv) B ) (i)B(ii)D(iii)C(iv) A

Match the following and find the correct answer

(i) Rhizobium - (A) Water ferm /
L . ~ (ii) Trichoderma - (B) Green manuring

(i) Azolla - (C) Symbiotic bacterium

- (iv) Crotolaria - (D) Free living fungus
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T T T T AR

10.

11.

12.

&

14.

I3

16.

17.

18.

19,

a) ().B_(i0).C (i) D (iv) A e NS R
9 GC @) D (i) A (v) B b) 6)C (i) D Giii) B (v) A

hd _ d) (i) B (ii) D (iii) C (iv)' A"

D& w({%l;ﬂiﬁulsn@mm Bbs BrLiged Bsea|b ﬂguaumrr:;n@.( -y

o)) epggflum &) USA (0Gufdban) @) @bHwunr  #) UK(@@&]G\JHLESI}
Folk‘sysfem of medicine ig popular in _ | )

a) Nigeria b) USA

¢)India =~ d)UK

) , Ufley — 11/ Section - I1 Q 4%2=8

Answer any four of the following.
GsoP\Fellsll B (eny LWISTUNGEHM6T  61(1p5I5.
Write the practical application of activation of nucellar tissue ,
9eHE FBH WSS CUIGEHMIHESTS 68 LIBBSHOGHS CABUGHHS
Differentiate missense mutation from non sense mutation
Weitenms IA0Tsir Gpdpenpenus UGS
Write the principle of electrophoresis.
GIPHEN6 FLTNMIGELSE BTNE 2 SITammEMmeT (SIS
Write any two examples for ecological equivalents. :
Qbmed InAL elGuregd Cryraig. B&be o 2 smemb s
Pyramid of energy is always upright Give an example for it
THC - uier @yewdi@ vwsLTBHN6T  61(1DSHiIH
Write any two uses of THC

Ufley — 111/ Section — 111 . 3%3=9
gBTHEID (peiim ellenTheEnsEE elenLwel SeuDbrisd alls aeol- 18 SLLILILOTS
eflenLWieT & eLD.

Answer any three of the following in which question No.18 is compulsory.
Ll LTeflF Gauisd @memiu@ LUK &apl S0 upm STIpEIS.
Write about pleiotrophy gene of Pisum sativam.
Qenem G wiBplaEs eemILGUmEY wrenel? o Sryemid O&r.
What are comutagens? Give example
sfEG6 B IPMETHHE QFweder o 6 eI HHEUHIDLILSIET 6T(1DHIB.
Write the anatomical adaptations of vivipary germination
FHILL H60 @60 eI euH S CFMEUBMET 61(IDSHIH
Write the benefits of mangrove ecosystem. . LG
CpIi BELLUS Hpoa 96 HTTSIIET LUGSD Apbe umpbufy LUITELGHSSSSEEN0
oz’ alensb@Es. | . an
Which is the best conventional method to introduce disease resistance capacity into a plant?
Explain.

Gfley — 1V / Section -1V 2%5=10
LpeaTgmid elambEHEHHS elenLWerlldaa|ib.
Answer the following questions.

2. @melsHasenevd HTEUT alepsulsn Siemioiienu elleul.

(D16L60E)
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21.

by S & o B b 0 L
s L] R | 11l et L K

PHB — g, PLA — 2 La1 guUUGBS
Describe the structure of dicot seed
(or)

Compare PHB with PLA A LBHES:

arepulsy HIEIEUMSS GFwsHpepL 6l
(SI6V6E))

Aupsa wpgn ey @b eI Qeusflul

elleurgs.
Write the micropropagation protocol for banana
' or)
( of Green House Gases

Discuss the natural and anthropogenic soruces
oology)

ougn uaew B SUTLERSSRSTL gg,

Emission

ued — 11 (2_ulfi-efeoreiusd) / Part — 11 (Bio-Z
(wPiGuesimsit : 35 / Marks: 35) e i
Afley — I/ Section—1I

SOTHE MBS EREEGD el LeTBsaD . . '

2. G&n@&iﬁuu'_l_ ;Brrsﬁri} G?@L&:Gﬁﬁﬁ Besayd gy sioLows o565

G BLs alLwlamauid CaTdhs 6L

Answer all the questions

2. Choose the most suitable answer from
option code and the corresponding answer

p—

Goliy

—
.

Note : | |
the given four alternatives and write the

BILTOyupaler (pseien almhGasmbl whph ST mb Bleneo allpBCsTLL (wanneu
o)) O@ms wHDID Wl &6

1) welHe womid G

@) wrhssT WHHID el FHer

F) Waflgen Lommid L.

The primary and secondary hosts of Tape worm are respectively.

a) mosquito and man

b) Man and housefly

c) Cattle and man

d) Man and pig

BpaumeuaTeuBmIeT 61g) VL (BEHBHETMIOSSTET SMJawilD Sls0e0?

3) BaufBsrdsd ) JFB 2 _Lsh sremnL AL
8) Caslulwd Gureip BFmE o I Qsneiensd F) oWt @mbsons o L
2_B5SIH60

Which. one of the following is not a cause for infertility?

a) Varicocele b) High body fat

¢) Ingestion of cadmium d) Tight clothing in man

gflubn Baemeamwd semBLiig
o) OpebOeviur GaerBamiGw - Apbr augEprulsy uTgliy

@) anllumgsd - B - ®6060760 SIPMA
@) HIV - elmaElw wesiewtye
F) CaengLr sevllseern - @sw aldsbd
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pind out the incorrect pair

i a) Neisseria gonorrhoeae - Affects urethra
D) Hepatitis B virus - Liver cirrhosis

¢) HIV | - Enlarged lymph

d) Candida albicans - Inflammation of heart

by gpaumauenaupmient ured @BynGion@umibasi Liypius o emtemIouITest ol 6157
o) e, Guss @weaiflesr oLl o_sien @aIGaITH Qrshedgpd §BIELTD oruwsiuBe X
@CynCuonBanib o_sieng.

o) sl gn Gowaduln X @BynGr@sigpb, Queszsiisy BB GawsuBd X .i
&CynBonGamba@yid 2_sienat. ;

@) aisalsd @rem® Goweudd X @By 1GLTGFMDBEDLD,
GwesouGd X GCymBwiGanypld 26D

§) Guemiseied @rei® Qawsou@d X @BynGLonGe TS 261616,
QawsuGd X @BynGunBsmd Bevemev.

Which one of the following is a true statement reg
c only one functional X chromosom
les

Qw6160 FBmeWT®H

DYENTE0 PC. E LY

arding sex chromosomes of Mammals?
I

e per cell. ;

a) Both males and females hav
have two functional X —

b) Males have one functional X chromosome whereas fema

chromosomes.

c¢) Males have two functional y one functional X

X chromosomes whereas females have onl

chromosomes
nal X

d) Females have two functional X chromosomes whereas males have no functio

chromosome.
5. &\poeniLeuBens Qummsd &
(i) GLiraguw &IT6ULD
(ii) ggegndld E
(iii) 1pGourenLsT &ITeVLD
(iv) SyiBLTaldlwe ST (D
) (i)B(ii)C(iii)D(iv)A
8) (i)D(ii)C(iii)B(iv)A
Match the following and find the correct answer

(i) Tertiary period - (A)Ageof fishes
(ii) Jurassic period (B) Dominance of invertebrates

(iii) Devonian period

(iv) Ordovician period
2) () B (ii) C (@iii) D (V) A
¢ ()D (i) C (iii) B (V) A

furer efenLenws STewsH
(A) Semeiall BIeuD
(B) (PHIOETRIDUDS mouseial QLHSSID
(C) LITgUITL_ LR 61T LOMILD LIDEnEUEETT
) oaireuesuBle QUTHBESTEOLD
&) (1) C (i) D (i) B (iv) A
#) () C (i) D (iii) A (iv) B
: ]

P —
) - . -, ——_

(C) Mammals and birds

(D) Golden age of Reptiles

b) (i) C (ii) D (iii) B (iv) A
d) (i) C (i) D (iii) A (iv) B
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a7

10.

11.
12.
13.

14.

15.

OLegemyns Casset gair sysuamm SIEPHEL

‘Why sexual method of reproduction is better than asexual r,

e . - 1 5
| UL SIEmOTEEDe.

o)) gosiaflsh oimauss eloomigsaier LpSsT GU e
g0 ameRULBAaer,

) gowsled Seaima guLuIulss G .urrﬁuf'@zfﬁ i
8) a0mefsd Simasst BHrby Gaeede! @L@mw:{)u@ -
F) gOeielied oimeuamen Briby Qsvmer GuTed GFW

Why dendritic cells are called so? |
a) Because they look like teeth of animals

b) Because they cause dent in the host body
¢) Because they look like dendrites of nerve cells

d) Because they function like nerve cells. weheng?

. . ; mighl
SPRUGMITIBDIT aFed HiHD Sjenafeoner DYFOBADTED u_%— 2) el
o) Ur Q) euilst @) @efiteluure HobBS @

Which one of the followings contains maximum amount qf alcohol?

a) Beer b) Wine ¢) Wine coders d) Gm. _
ShouGamappeT agi sai@ Gssser LHTHL o @HEmIOLIDD UTed (‘5& el

Sl SIS (WPUPSHWe OFs0B6H 1) DIMEUBET LISOBIDET e
8) smasst IpUTL DL WIS Qssmss  F) omassn DIGUTE MBS Cssdmsh
Which one of the following is not true regarding stem cells?

a) They are totipotent cells b) They are pluripotent cells
¢) They are undifferentiated cells d) They are differentiated cells.
Uifley — II/ Section — II 4x2=8

JeB@ID BreE el & e, allemLwisfldbseyLb.
Answer any four of the followin g. -
tRNA -, Gomsarsds CETeNEnd cpevdbans eaT gl HD SIMPSHECMTDH?

Why do we call tRNA as a adapter molecule?

BIei&  euenad  wlAutdsamnend GUILI6, SwuBYbsTeaT Grmuis  smyenfismenyb
GHUIBs.

Mention the four types malaria and their causative agents.

OuoL” LmerdL ey - GUENTLLI).

Define metastasis.

Cpryddlsmen o uilflug dralar apson BLEUBSBIBND smeurenies UBIE®ET 119315,
Write the role of viruses in biological control of pathogens.

Bevewt 0TUBHINGUTS6) GIGIMTEY eIevien? © gmyemith Rasn(.
What is coextinction? Give an example

QaBgyall UsaaD 8 euensiTen fmmlenmiEansn Q_GﬁﬁﬂLéiseﬂngd
Red list of Red Data book consists of eight categories of species. M

. dfley — I/ Section - Iqp 3%3=9
JEEH@ID apshiy ellemasense el wef DiuDfled  efley o186 1L Tuionss

sl welldseay,

Answer any three of the following in which questjon No.18 is

| Compulsory,
umeSleor BeniCumssd, LTeded @mD@U(UJd':&Q'iGﬂ]Q‘: el G

DUCL gl gir?
€production?
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- evensvsL BLrgniflur, i

B @lﬂ m, alwlﬂﬂﬂtf';t@mdl QanLireLwsn? o_aig alo &S gyemid HOS-
Is phenyl e (.muna related to albinism? Give rcason for your answer.

ufemioh@ed WILED GULID F&ILuG @ eedemiowres o, NG5 areieuTl?

‘ Gene flow can be a strong agent of evolution Explain how?

8 BLW ggﬂmﬂme?‘m@gbg\lm;bg‘ﬂs\') PCR Q@mfsopiuibeng el6iaimpl LWETLIGEHBeMD?

How can we utilize PCR technique in the ficld of forensic medicine?

@pPuwneled, an@aet unpsiiie) Quesiseis LG up Ap GOOY QDS

Write a brief note on the role of woman in conservation of forest in india.

16.

k17

9.

2%5=10

N _ Ifley — 1V/ Section = IV
Sp&HTEID SNaTSHEHHG allsnLwefldamea|Lb.
Answer the following questions.
20. ULSHHET 2 Sl & b EEHHE 2_aeTamiolieny alenbGHd
_ (S1606051) 4
HGP — wie o uGWnasmhise DD aHTEBTe0F FEUTEOEHE upd 1RSSBS ;
Explain the anatomy of testis with the help of a diagram |
(o)
Write about the applications and future challenges of HGP.
21. wyyl GurLasefe LemiLBemen eleurd

(S1606031)
gmu, o wifleen  LeLGsUDI &I60MBIBEVHENETT (ardliTealenan)

o wWigmm snyeni|BEhHE
QeusilaT._ BB SIEUDOD alleurd.
Discuss the properties of genetic material

(or)

e various responses of living organisms towards abiotic factors.

Discuss th

-
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orAf - eflemggretr 2019 - 20 / Model question pdsl:ry Second Year

Bwsoflened @yewrmb syem@ / Higher Secon | i
| 2_ufifed / Biology

(0% wpg> aykeod eud / Tamil and
B ey @ 15 Pl missit + 3.00 e

Maximum Marks . 0
Time Allowed : 15 minutes + 3.00 hrs

nglish Version) '
Eng QTGS m@u@ummm.:..;

= il el T
i e S S0 2 -

. GG  B1EIILIZHEN6 arrﬂumrg-’ e |
SIyESh ;1. oiampe slembosepb sl Ufﬂﬁ””"? ﬂ‘ giﬁ)méi . m“'—'“ﬁﬂﬁf_? I
Qs 6itenioyb. DIF sV aNed @fmmum@ud&ﬂ o !

2_LAIQWIng GgHMeldseab. o . - ,
2. oo (oisvevg) mepiiy enoufsme 0BG aw@w?ﬂj?ﬁa&rf@l@mmm@mgm@m
UWSTUBSHS Couemi@id. LIL el 1emyeuSHDG Guissidlsd

: inti f there is any lack of fajm,
Instructions : 1. Check the question paper for fairness of printing. I 35,

inform the Hall supervisor immediately. _ _
2. Use Blue (or) Black ink to write and underline and pencil to firaw dl?grams'
GURTERTCY I (2 uifl-srauyelwsy), ugd — I (2 ulf-elleomdlusd) HolldbsHeai
sllsnL_ gz meflsy sllsmL wer & sayib. '
Note : Candidate should answer Part — I (Bio-Botany) & Part — II (Bio-Zoology) in
S€parate answer-books.

UGS ~ 1 (2_ulfl-greuysie) / Part — I (Bio-Botany)
(o@UCuewIEsiT : 35 / Marks : 35)
Ufley = I/ Section I 8x1=8
DIDBHI 6T 6Théb @b ollenL_weiéseab
Car®assiiue L BTeil@ ellenLaefsd l&ab
GO BL 6 sdlenLufenesmu i CaTHmI s11p8
- Answer all the questions

. Choose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer
L 2 pomé dpmids sanssit s GELILLuGeug
3) GauBriL Qo Béasst <) Cawmem OLOTL_ [ dsassir
@) mefl Qi Gabassi F) @il g Oom’_ Haeir
Eyes of potato are referred to
a) adventitious roots b) axillary buds

GOy ;1.

2

eJMLemL L aﬂeml_smu_lg's (Bg;irﬁr,@g,@g‘,@

5.
Note :

b —

¢) terminal buds

| d) intercalary buds

. 2. wyugy BHVTHEBHADE F.CoHmensy OIS £ 3Y LWISTLG &1 :
' Y

! S) Qe sefa)sy MBS WITEEVTID ® GSDEHI, geamais

&) Ba sLELUTLTen Gmlemeoullsd sref
8) @ utgisriy 1és o ulflemb
) @6l SimaiGEID
E.Coli is the mostly used org
a) It is easy to handle.

B6d sueniramg,.

anism for gene cloning, becayse

b) It is growing easily under optimal condition
¢) It is the safe organism

d) All the above.
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03

gap@ ((A) b uflgnmisen - :
QEuwLL@ &Sl sime. » Qs @Gmmeye 2 gseluieited peigpuli BHED

smemid (R) : Biesignuli B i : , ;
e Y BesD Qeuieugne, wpm pengpulissn oibs U6 pa1L BHHE0
o) (A) &, R) sy
a) (A) sam; (R) &
@) (A) wigo (R ; .
elsmwu_milei)&ma:, BresBo &fl, quemed (R) asiugl (A)-baonar eImbEONS
A) wbmi : -
) ‘( .) oppid (R) @reaGeo &l (R) asiug (A)bore aembsons HMOHDE.
This is the pattern of question

QZZ?:’OI;&A)_ : é['hc. “:Xplflnts are sterilized by mercuric chloride.
edinm ) : Sterilization prevents the growth of other micro organisons in the Culture

a) (A) correct; (R) wrong

b) (A) wrong; (R) correct

¢) Both (A) and (R) are correct; but (R) is not the explanation to (A)
d) Both (A) and (R) are correct; (R) is the explanation of (A)

sisreimeln, omus omeiss, sl GaUULSMES sriue GFilmU 9
BT fgﬁts.mfr&msm HHASBT BIDES H16wID '
o) @eMsBsidbmaseld HTHHINEGW @enL_BuiuTen FLOMHENE0 ur g ULBsTeNS).

o) SreuyEEsT weseiel®mbel 2 BiEhaHD GFws(pemD LTSS BETETS.

B) oPdaly galulenmsd sHeures QEwsdpsnp LTHEBELILL B6TENSI-

#) aniusi GaOL ereTB! Lol CalILPLENES 9B Bi6y D606,

Now a'days, scientists suggest carbon sequestration is a solution for global warming. The
reason 18

a) The balance between photosynthesis and respiration is disturbed

b) The absorption process of plants from the soil is disturbed

¢) Due to high intensity of light respiration process is disturbed

d) Carbon seq uestration is not the solution for global warming.

gmieno GUTH GF s L SIS @& GesTeTEs

D) DIUTWE]TLOTE aumelensy DTHIBSHMSS SBUUSI

2y) LG FE060 UL BEB6TT aiafiwaLeosdsh Geusuii LuBeams GMDLILGEI.

3) (o) wHpD (L)

#) 10engny 2 _puBHs LD
The objectives of clean development mechanism are / is
a) Prevention of dangerous climate change

b) Reduction of emission of green house gases.

¢) Both (a) and (b)

d) Reduction of electricity generation and its need.

Bpapaaappst abs SFD! opgggeman (N;) HORBDSSID safl 2 uifl Sievsv? .
o)) oeienm o@FTEN ab) osGLUTELT @) denmeroigflun 7)) HIEOLIS

Which one of the following is not a free living N2 fixing organism?
a) Anabaena azollae b) Azotobacter ¢) Clostridium d) Nostoc

DD DIBHET BaHmEUHEMETIS GMBLUUG
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@@ ISR TR A

@D gesi

© 7. (A) Gurgiauns. eIl @b@wnelsd cuer o

(B) Gurgieus Opst BpFHuwneisd eueTI(HLD
ol o) (A)—gasmb ot ey
(B) — g&@ny urtGud
&) (A) - gsstp unir@ul
(B) - sasmyb ol .Ldleamyd
@) (A)-sasmbd GamurdGLLLD .
(B) - séamb HiBoneudbE@NGWTLLD
§) (A)-gssngd o1Gsr Q@ ANBWTLLD
(B) — gd@mnyld GamuidGELLD
(A) was originally grown in North India.
(B) was originally grown in South India.
a) (A)- Saccharum officinarum
(B) — Saccharum bareri
b) (A)- Saccharum bareri
(B) —Saccharum officinarum
¢) (A) - Saccharum coarctatum
(B) — Saccharum alopecuroidum
d) (A)-Saccharum alopecuroidum
(B) — Saccharum coarctatum
8. BULBT R siFs @emelsy LWIALHLGD FOUT STEITLD

Sl WIRNaBT  FTe0EHEILT &) . OLBED ETEVTETVIQET
@) enfellwr QueiisTdwimenT F) afagwr LIGydlsdwsienisid
The very common rubber yielding plant of tamilnadu is
a) Manihot esculenta b) Ficus elastica
¢) Hevea benthamiana ~ d) Hevea brasiliensis
fley — II/ Section — II 4x2=8

JeBaD B elamesEnsE il wiefldsayLb.
Answer any four of the following.

9. el CallLasdhsrarsdnen Quesk Gl L &8 STUISHBGL @B o_sien
CoupunGessit @yeasigenar siapses. '
Write any two difference between male gametoph

10.  wyugmy SUIUL S0 6lsueum) BLLMDESBETID?
How to construct a gene map?

1L urdl enf o _uif QT i (DAULTee) Suwimfiinge i
o o 681)  Swimfin e Ulehrarenilusiy 2_6il6n  Geugiufiensy

yte and female gametophyte

Write the chemistry of biological hydrogen Production by g]
2. 90 smeuy Ogsvadsnr Qasp GOUD]  e6UOUTMI (Shesevmp? dea
How to remove cell wall of a plant cell? :
13.  wemevsersir WIsCHTH e16mTsy sreiren?
What is known as tree line of g mountain?
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i ADTD Couemmemr |y 0 o
kj4, QpOMDTID WlAler g
- What is the plan of thjrq o

Agriculturg] Revolution 7

; : Ufley - 11 ,
98I0 ey Qﬂﬂmé‘:m@b&@ ﬁ?‘]lﬂmeL;Sectmn..m
ellenL e &b,

Answer any three of the followin
15. WBGL Bouy &meymmeds HEw

i~ 3x3=9
DIDed eflemy 616-18b@ sL_LmwuonE
g in which question No.18 is compulsory.
LOUDID psingy Omempsomamen 6
; . ! (B%I%
Write the three fusions of Angiospermous plant fertilization,
16. @mw YUSHEBHMID asLg @8 oyLIggyId @6 Gen BEwD BeLs QFwesEnsaTa
9T 2SI aeeurgy?
Codominance is an ¢xample of intragenic gene interaction How?
17, GP@smwowren Wenemiiy 1o
Caupun@aens D&%

DOID (pgemwowinp Msmemiiy BomPBhaem G _sien

Write the differences between coupling and repulsion.

18. Memsowimen Gsusnmesit Sl ®mHa asimTed s6en? ﬁ
What is known as sustainable development of agriculture? L
19. Quibens Geuenmesienio 6T6BILI QWBmedE5 FHOUSED 616D HoHHISHMS CHTdHS §E'
BUnIGaSTES eGHULGEDE. Qsmen allmses. :

Organic farming is considered as the movement towards the philosophy of Back to Nature.
Explain.

ST

Wifley — IV / Section -1V 2%5=10 f
£{pa’5&.rr@3]tb eleMEEEnEE el Welldsayb. :
Answer the following questions.

2. 9 YbGL HTaursden CLrdHe ampsms &GPDFMW 6 MlMESLULITSS SHHb.
(Si6060%1) . . '
BDENHOBTES THTILSHSHDOMU M STEUTHIIST ETEUUTH LGSSHIUBIT SIH6M b
Fn6VRIEENGT  6T(LDHIH. ' ' e
;Il?marise the whole life cycle of an Angiosperm plant in the form of schematic diagram.
(or)
ity i ? Write its advantages. ]
i ici lerence capacity into a plant |
How to introduce herbicide to e il o | |
y 60 WaAIe0EA QauiubPems gHUBD HrbsEEMU UDBl QSIS |
2. 96 &Y ) h |
oD oL coramefisy aeiedlamas NIl CEITEIE LIDIL SOVSRTSI.
GDBIENEY  LOGWI : : e
@auBauneiTenpUD PIT 2GS HBHIL-E 6iloTSE

E

ﬂ

in it wi h.
i [ d. Explain it with an example eac
' right and inverte
Pyramid of numbers can be up

203




12

- _Zoology) 7
ued — 11 (e uifl-slemaiue) /Part-—l‘ls(sﬂ)lé i

(oPuGuakims : 35 / Marks :
Wifley = 1/ Section—I

b i
oaihs elamdasedeb el LeLw LW %m%@&a

8){1:.-8

@GPy : 1. . '
2 QEnBsBILLL pieig efeLseis Waaid 0
j B.
GLGLal el ulsmanyb Goihd 61LS!
Note @ 1. Answerall the questions four altematives ey

2. Choose the most suitable answer from the give!
option code and the corresponding answer B wpmb O BIbsams,.
80 shuPusse Vuhs Bree oebosseld, A B S- wf?arrsurr& Bpésp 5
STRULGHSVBRT,  StLCuweied cglg';g‘)tbugﬂmfr&:mﬂs&r giBemenL L 61601 oloxIAIB b?
o) PIXP® &) 1OxPt @ 1M1 il

could be the Genot
Four children of a couple have blood groups A,B AB and O. What Ipe of

the parents? 0..vAB
a) I 1BpP b) IMOx P &) IMOXIP1° d) I°1°x1°1
walgalst uflewmo aumisdulsr sfwrer aufles 61g1? o
) Capmiaie— GamiGuor Camiiefe —> GamrGlom EIT&L eV
> BawnGuor Frifweia.
&) GamtGuor Gamiedey—> GamnBur syéLad—> Cammiei®
— Baw@uwor FrUNweTa.
8) CamtGur aysLed—> GamBuor Gapliadsd — Canmiai®
— BapnGuwr snifwsre. .
) GamtBur Gamledad — GammAsip— GamnGom ayséL 6
— GammBur Friiflwers.

Which ia the correct order of human evolution?

a) Hominid—*Homo habilis—Homo erectus™Homo sapiens.

b) Homo habilis —>Homo erectus —>Hominids — Homo sapiens.
¢) Homo erectus—>Homo habilis ™ Hominids — Homo sapiens.
d) Homo habilis—>Hominids—>Homo exctus —*Homo sapiens.
Spaumeueneudmist aig Ffwmp Senem?

o) Puufids gneselunsd - Qe F

&) sibwrdlerd - L@ W
@) ®neor eygnir - awIe &4
#) 1Gsuflwimr - gLe Osna:

Which one of the following is not a correct pair?

a) African sleeping sickness - Tsetse fly
b) Amoebiasis - House fly
c) Kala azar - Sand fly

d) Malaria

Aedes mosquits




1) BGudlsvevery @?ﬂgglﬁi;&fmm u@mge_" S sﬁsl'_pnr&mfr MOUGHT TG  HTEUT S et
&) GU)ULLGLHUQ,@Q)W{BU“ U
@) oufl@Csufuyy P Gs
) Sisnflseny CapbUsrdig et

To control the growth
- of strangular vine in cj
a) Bacillus thuringiensig R g

b) Phytophthora palmivora
¢) Pyricularia orizae

d) Agaricus campestris

SO\ Geumyy

mycoherbicide is obtained from

. pBsitseama @G&n_fr'@ugn@ 5 HLG A _ : .
: . e & G _ Gu —
élgg.rf,g,@_ @?—513@55 STyemILD BUSHEE 61.CamemaenaiL gnohsCrrenodled QaTaldlGui
9) @ 8EIDID b rrgens STEEM] GHUD SMLWLMMGED BUbESMD Bs0me.
&) F1d&Crmennder QselldiGu, rDNA 2 BUSHE@S CammauuTs BURE SHSHMHS
O 6w B6iteng;).

8) Yrshismens FroamIGUBDD MW Mmoo CHmanLTar BULIKIEGSID
o1.Cameneoulsh Esuemey.

F) Gsrumu siésorGubpd oemiw MeUEBS CHemeuwinen SWniGHemD 61.8sTemsvuTsd
Esvemev.

Saccharomyces cerevisiae is more suitable for the production of recombinant interferons than
E.coli. The reason is

a) E.coli does not have machinery for glycosylation of starch,

b) Sachharomyces cerevisiac has machinery for the synthesis of tDNA.
c¢) E.coli does not have machinery for glycosylation of proteins

d) E-coli does not have machinery for glycosylation of fats.

. SaumeuaTeuBmIeT o1& Gepoauliu Caugurhemrw 2 ulflend?

3l) B <) yell @) welizsi F) @enmed
Which is the stenotherms from the following? ,
a) Dog b) Tiger c¢) Human d) Lizard

. g (A) : BHHWT, o_e0BHH60 o een 17 Waslbufw o 1iflw ussumss sSaienio
Qe BTHS6T60 QeiDl.

amemd (R) : @pHwrale yal ool 2 Willamsass Boabd gipsts o g
a) (A) &f; (R) seuml

o) (A) saum; (R) &

@) (A) wpgo (R) & (R), A-eow oeN& &S BEI.

® (A) wpge (R) sl (R), A-ow 6l 6118 sDEMED.

Assertion (A) : India is one of the 17 Mega bio diversity countries of the world.
Reason (R) : India’s geographical location is most suitable for the orgarisms.
a) (A) Correct; (R) Wrong b) (A) Wrong; (R) Correct

¢) (A) and (R) correct and (R) explains (A) ‘

d) (A) and (R) correct and (R) does not explain (A)
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10.

11.

12.
13.

14.

15.

16.

17.

18.

19.

s SrEEHUCE aai 200 — @POIGHE:
Sl) WTFDD BHLO STHDI

Q) GODHS DieN6] WTEHMLW STHD

®) Gursoten saETHMH CoE lammals®
) SRGSHGL OTFHMLW STHDI.

Air quality Index number 200 denotes b) Mo Jerate,

o syl

low level pollution.

a) good, no pollution " po]lutiol'l
¢) Bad, unhealthy pollution d) Haz |
4%,
dfley — 11/ Section — I o]
98sgub BreE elambsensg el weilbsail:
Answer any four of the following. e

Y - onfibg wjugmisae Samen HIe0aSe0s6l @eoeon PV
Y - linked genes are non homologous why?

B WL — gm OpTd CaTiutiamLd Falib.

State one gene — one enzyme hypothesis _
8 §@Gung PET Gpdifsst apmsapme wisiuBsol
Pet plastics are no more environmental hazardoxs substances. Why?
QaSETEHLed Buidsld aamTed eleie?

What is known as photokinesis? ,

Bilensvsailan Qaiu SBsdmens STaRlde@d ULD 6ImJs.
Draw the diagram showing thermal zones in cold water bodies

s o _emeyl LsHamean eelaunm sl GuUBSSeTD?

How can we control eutrophication?

QuUTmETTS BHEBTSE gair)

\ifley — 111/ Section — ITI - 3%359
gesd wan elambsense slamLwel Ssubsd allerm eanm-186@ SLLIWWLTG
sllenL Wl aaiD.
Answer any three of the following in which question No.18 is compulsory.
Sutellsd BenLOupd Leoleney  (pemBEGL  erGUTT 2 (HUTHSD (pemsEh el Gl
2_siten GaumiLmBEemen 611DHIS.
Write the differences between multiple fission and sporulzition in Amoeba
ualEGLd meniy aesunm CauwuiLGeng?
How to do amniocentesis?
Ws e-pusduller CmACLWITSSH FBapaies Gurgy
(DBIB.
Write about the third phase of translation in protein synthesis,
waflg euenii&d auniGome 2_Budbduils LBeneosey
Give schematic representation for the production of hy
Amplenss Uebeusns s s eianioul e WD SIbFRIEeT |
Write about the three indices of species diversity.

BEOL.GLmD CPSTTLD  [FleneveniL] l-'i!ﬂ'

61 elenés@;in UL SSlenar auen)s.
Mman growth hormone.
i (D &I,
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21.

fley — IV / Section - 1V | 2%5=10

BpHHTEUD el
EhdHE eflen ;
Answer the following quc;-t)ions. B

wel@efsd  BHenL QUi e
B G5, P UDID  BGADIBE  oPmith  eueTiEE  LHED Qowememen  SHHHOTE
o CEWE (H16L605I)
E = -
GOPEOELD  seILfpedsn, Gjms opdie  GEMASHLUSAN UG  BaTeES
puenggl. alend@s eeieaump?
Briefly explain the mechanism of fertilization and implantation in human beings.
(or)
minal activities Explain how?

Fingerprinting technique is inevitable in the detection of cri
&I B UILISBMET aleNT&&HS-

Quiesd Gsia GariuIligmem alab@D FHHETLHHL
< (160608))
UBaum  euens  Buwedy BpmiisgeLd  STOLY QU B 6T
(penpaenenud afleurd.
Explain the modern synthetic theory of natural selection

(or)
Discuss the various types of innate immunity and their functionin

ujp  Siemel Qawsou(BLD

g mechanisms.
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